FOR TECHNICAL COOPERATION PROJECT ON LIVESTOCK DEVELOPMENT IN NORTHERN MADAGASCAR

MARCH 1979

JAPAN INTERNATIONAL COOPERATION AGENCY



4. Technical Cooperation Project on Livestock Development in Northern Madagascar (R/D November 11, 1977 --- November 10, 1980)

Consignee : CHEF DU SCE PROVINCIAL DE L'ELEVAGE DE DIEGO-SUAREZ,

SERVICE PROVINCIAL DE L'ELEVAGE DE DIEGO-SUAREZ,

DIEGO-SUAREZ, MADAGASCAR

Case Mark: LIVESTOCK PROJECT

JICA

DIEGO-SUAREZ (VIA TAMATAVE)

C/NO.

MADE IN JAPAN

Side Mark : TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN

DONATION LIST

The Government of Japan has the pleasure to donate the items listed below, worth 15,438,273 yen (US \$), to the Government

of MADAGASCAR to be utilized for LIVESTOCK

DEVELOPMENT PROJECT IN NORTH MADAGASCAR

- 1. RANCH FENCE
- 2. VEHICLES FOUR-WHEEL-DRIVE 1 CARGO TRUCK 1 AUTO CYCLE 7
- 3. TRACTOR



Livestock Development Project in North Madagascar

(Fiscal Year 1977)

| SHIPMENT | CONVEYANCE | EMBARKED | DISEMBARKED | C.I.F. | VALUE | B/L NO. | TOTAL | MAIN EQUIPMENT AND MATERIALS | REMARKS | PAGE |
|----------|------------------|----------|-------------|--------------------------|-------|---------|-------|---------------------------------------------------------------------------|-------------------------|------|
| NUMBER | BY SEA BY AIR | DATE | DATE | YEN | US\$ | | ITEM | | (ATTACHED INVOICE) | |
| 1 | Sea No. TOKO | ' ' | 5 Jun '78 | 11,458,053 | | | | Ranch Fence & Etc. | Attached Sheet No. 1 | 4~5 |
| 2 | Sea CORI MARU | 1 | | (3,980,220) 5,773,939 | | | | Vehicles (Land Cruiser 1, Cargo truck 1, Auto cycle 7), Tractor (1) | No. 2 | 6~20 |
| | | | Total | 15,438,273 | | | | | | |

1 - 1

JAPAN INTERNATIONAL COOPERATION AGENCY

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to: | Chef du. See de Diego=Sua | Procindial de l'Elevage | No : | ********** | |
|----------------|------------------------------|----------------------------------------------------|--------|------------|----------------|
| | Service prov Diego-Suarez | rincial de l'Alevage de | Date: | April | 28, 1978 |
| • | | A Manusantur | | | |
| * | | * | Shippe | d per | "NO.1 TOXO" |
| Shipping Mark: | | | | | |
| | | | | from | Tokyo, Japan |
| Livestock a | Phoject | | | *** | |
| | • | | | to | Diego-Suarez |
| | | SIDE MARK | | **** | |
| 110 | KY CHANGE TO THE | ECHNICAL COLLABORATION AID THE GOVERNMENT OF JAPAN | | yia | |
| PING-3 | baZ | | | | |
| | | | | on | April 28, 1978 |
| C/No. | C-1 - C-18 | | | ******* | |
| MADE | N JAPAN | | | | |
| ************ | | | Export | Licence | No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|--------------------------------------------|------------------------------------|---------------|--------------------------------|
| | RANCH FINCE & ETC. | | NO COVIL. | Jan di |
| | ≈ Specification us per attached sheet ⇒ | 5,120 pcs 2 lot & 1 set | | ¥3,384,500°~ |
| | | Shipping Occen ire Insurance | i.ht | 321,324 2,673,448 78,781 |
| | | C.I.F. DI | lic-surie | 811,458,053 |
| | JAPAN INTERNATIONAL COOPERATION AGENCY | | | |
| | Sains aru magen FRESIDENT | | | |
| | A STARTAGE OF SUPERIOR | • | E.&. | O.E |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1)

| Nos. | Description of Goods | | Quar | ntity | Unit Price | Amount |
|------|---------------------------|----------|-------|----------------|-------------------------------------|--------------------------------|
| | POST VB Sec. Ltl.700 | | 1,820 | рсв. | ex1.440 | ¥2,620,800 |
| | - do - | | 205 | 13 | 1,440 | 295,200,- |
| | MAIN FOSTS 2VB Sec. | | 26 | 83 | 5,950 | 154,700 |
| | BRACINO VB Sec. L: 1,700 | | 175 | ** | 1,440 | 252,000 |
| | Stopper kire L: 1,200 | | 2,051 | 11 | 200 | 410,200.~ |
| | FENCE WIRE | | 72 | Ħ | 7,950 | 572,400 |
| | - do - | | 50 | Ħ | 7,950 | 397,500 |
| | FENGE WIRE | | 11 | 11 | 7,950 | 87,450 |
| | SLIDE FITTING | | 350 | ti | 53 | 18,550 |
| | FILLING TOOL | | 2 | 11 | 8,600 | 17,200,- |
| | STRECHED | 1 | 328. | 13 | 640 | 209,920 |
| | STRECHED HANDLE | | 30 | 11 | 115 | 3,450 |
| | CIRCULAR GATE PEN | | 1 | lot | | 2,946,700 |
| | DOUBLE LEAFED HINGLD DATE | | 1 | tt | | 322,130,- |
| | VATER SUPPLY BASIN | : | 1 | ee t | | 76,300 |
| | TOTAL: | 8 | 1 | lot set | | £8,384,500 |
| | | - | | Shipp Ocean | ing Charge Freight Ence Press | 321,324 2,673,448 78,781 |
| | | | , | C.1.F | DILEC-SU | REZ &11,459,053 |
| | | : | | | | |
| | | | | | : | |
| | | | | | | |
| | | | | | | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to: Chef do Sca Provincial de l'Elevage de Diego-Suarez, Service Provincial | No: | | | |
|------------------------------------------------------------------------------------------|----------------------------|--|--|--|
| de l'Elevage de Diego-Suarez. Diego-Suarez, Hadagascar | | | | |
| *************************************** | Shipped per "CORINTO MARU" | | | |
| Shipping Mark: LIVESTOCK PROJECT | from Yokohama, Japan | | | |
| SIDE MARK | to Diego-Suaroz | | | |
| TECHNICAL COLLABORATION AID THE GOVERNMENT OF JAPAN | via Tamataye | | | |
| DIEGG=3UAREZ H=1=3, H=4=1=3 C/No. 1=4, 10=11 | on June 21, 1978 | | | |
| MADE IN JAPAN | Export Licence No | | | |

| Nos. | Description of Goods | Quantity | Unit Price | Amount | |
|------|--------------------------------------------|-------------------|--------------------|-----------------------|--|
| | TOYOTA MOUND CRUISER STATION WAGON & ETC. | | NO COMME F.O.B. | GTAL VALUE GAGAN | |
| | - Specification as per attached sheet - | | g Charge | £3,980,720 218,839 | |
| | | Ccean I Insumr | ce Prem. | 1,543,345. 31,035. | |
| | | C.I.F. Diego- | Suare _z | ¥5.773.939. | |
| | Japan international cooperation agency | | | | |
| | SHINAKL INGEN PRESIDENT | | | | |
| | • | • | E.&. | O.E | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------|-----------------------|---------------------------------------------------------|
| | TOYOTA ROUND CHUISER STATION WAGON Model Nc.FJ55LV-KC Engine Nc.O259282 *Chassis No.FJ55-CO87313 | l unit | | ¥1,390,000 |
| | Spare Parts for above - as per attached sheet - | 332 pcs. | | 208,500 |
| | TOYOTA HI-ACE Model No.RHIII-JEB Engine No.1704213 Chassis No.KH11-0159680 | 1 unit | | 820,000 |
| | Spare Parts forabove - as per attached sheet - | 278 pcs. | | 123,000 |
| | Tractor Model S-370D (ST1300, Beaver) Rotary Tiller for S-370D Tractor (GPR-1100 | l set | | 564,930 |
| | Attachments Rear Wheel Weight No.1 Rear Wheel Weight No.2 Chassis Weight | l pco. l " | | 14,100 14,100 7,030 |
| | SUZUKI MOTORSYCLES 100 Model No.Telcoc Engine No. Frume No. Colour 127639 117113 Marble Canadian Blue 127690 117114 " 127691 117115 " 127692 117116 " 127693 117117 " 127498 117113 " 127501 117119 " Spare Parts for above - as per attached sheet - | 1 unit 1 " 1 " 1 " 1 " 1 " | | 104,230 104,230 104,230 104,230 104,230 104,230 109,450 |
| | 70):AL: | 9 units 1,022 pes. 1 set | | ¥3,980,720. |
| | | Ocean Insu: | ing Charge Freight | 218,839 1,543,345 31,035 |
| | | | | 2022 - 11 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 |

| c/NO.M-3 | Spare. | Parts | for | SUCCURI | HOTOIXYCLES | 100 |
|----------|--------|-------|--------|---------|-------------|--------|
| • | | Dist | ributa | t 'a | Dietro | wiet's |

| Invoice | e No. O | 0375 | Distributor's Code | 1500000 Distributor's AFRICAN ARE | A | 24 | Page | No. 1 |
|---------------|---------|------|-----------------------|-----------------------------------|-------|-----------|---------|---------------|
| Cuse | Cvilama | ltem | | | | M mi. | F.0 0 | Japanese Pors |
| No | Code | No. | Part No. | Part Name | Q'iy | Q'ty | a | Amount |
| K-3 XXXXXX | | | | SALES NO | 07297 | | nener i | 0. 3/3/76 |
| * # # # | 0015 | 1 | 09263-14006 | ROLLER BEARING NTN | 2 | 2 | 1,40 | 1.40 |
| ! | 0015 | 2 | 09283-25037 | OIL SEAL | 2 | 1 | 0.40 | 0.80 |
| | 0015 | 3 | 09283-26007 | OIL SEAL | 2 | 2 | 0.60 | 0.60 |
| | 0015 | 4 | 09381-14001 | SHAP RING | 10 | 10 | 0.50 | 0.50 |
| ### | 0011 | 5 | 09471-06001 | BULB | 10 | 10 | 1.00 | 1.00 |
| RHM | 0011 | 6 | 09471-06002 | BULB | 10 | 10 | 1.00 | 1.00 |
| K K M | 0011 | 7 | 09471-06008 | BULB | 10 | 10 | 2.50 | 2,50 |
| * # # | 0011 | 8 | 09471-06021 | BULB | 10 | 10 | 1.30 | 1,30 |
| 445 | 0011 | 9 | 09471-06029 | BULB | 10 | 10 | 3,00 | 3.00 |
| | 0012 | 10 | 09481-10001 | FUSE 10A | 10 | 10 | 0.40 | 0.40 |
| | 0012 | 11 | 09482-00091 | SPARK PLUG NGK 8-8ES | 30 | 10 | 4.00 | 12.00 |
| | 0007 | 12 | 11141-48111 | CYLINDER HEAD GASKET | 5 | 5 | 1.25 | 1,25 |
| | 0007 | 13 | 11241-41300 | CYLINDER GASKET | 5 | 5 | 0.50 | 0.50 |
| | 0007 | 14 | 11400-48820 | ENGINE GASKET SET | 2 | 1 | 1.30 | 2,60 |
| | 0007 | 15 | 11482-48000 | CLUTCH COVER GASKET | 2 | 2 | 0,60 | 0.60 |
| | 0007 | 16 | 11483-48000 | MAGNETO COVER GASKET | 2 | 2 | 0.40 | 0.40 |
| | 0007 | 17 | 12110-48100 | PISTON S.T.D (50HH) | 3 | 1 | 1.80 | 5.40 |
| | 0007 | 18 | 12110-48100-050 | PISTON (50.50MH) | 2 | ı | 1.80 | 3.60 |
| | 0007 | 19 | 12110-48730 | PISTON 0/S 1.0 (51MH) | 2 | 1 | 1.40 | 3.60 |
| | 0007 | 20 | 12140-28630 | PISTON RING SET | 4 | 1 | 1.60 | 6.40 |
| | 0007 | 21 | 12140-28640 | PISTON RING SET | 2 | 1 | 2.00 | 4.00 |
| | 0007 | 22 | 12140-28790 | PISTON RING SET | 2 | 1 | 2.00 | 4.00 |
| | 0007 | 23 | 12151-07000 | PISTON PIN | 10 | 10 | 4.00 | 4.00 |
| - | | l | | Grand total | | \forall | | |

2 - 4

| <u> </u> | | ltem | | | | Mini. | F.O.B | apanese Pa |
|-------------|------------------|------|-------------|--------------------------|-------|-------|-------|------------|
| Case No. | Casion a Code | No. | Part No. | Part Name | Q'17 | Q'ty | tt | Amoun |
| I W M | 0007 | 24 | 12161-12001 | CONNECTING ROD | , | 1 | 2.70 | 2. |
| | 0007 | 25 | 12211-40000 | CRANK PIN | ! | 1 | 0.80 | 0. |
| | 0007 | 26 | 13150-48010 | READ VALVE ASSY | : | 1 | 6,00 | 6 |
| | 0007 | 27 | 13156-41100 | REED VALVE GASKET | ! | 5 | 0.55 | 0 |
| | 0007 | 20 | 13249-05010 | DRAIN PLUG GASKET | 10 | 10 | 0.40 | 0 |
| | 0007 | 29 | 13251-11010 | FLOAT CHAMBER GASKET | } | 5 5 | 0.80 | 0 |
| | 0007 | 30 | 13254-01010 | FLOAT PIN | ! | 5 5 | 0.50 | 0 |
| | 0007 | 31 | 13370-28010 | NEEDLE VALVE ASSY | ; | 2 1 | 1.70 | 3 |
| | 0007 | 32 | 13781-29310 | AIR CLEANER ELEMENT | 4 | 1 | 0.60 | 2 |
| | 0015 | 33 | 14181-11010 | EXHAUST PIPE GASKET | • | 2 | 0.40 | 1 |
| | 0015 | 34 | 14303-48001 | 2ND HUFFLER | : | 1 | 5.00 | 5 |
| | 0015 | 35 | 14310-48000 | IST MUFFLER | } : | 1 | 15.00 | 15 |
| | 0015 | 36 | 14771-48001 | HUFFLER CONNECTOR | (: | 1 | 0.70 | 1 |
| | 0015 | 36 | 14771-48001 | HUFFLER CONNECTOR | | 1 1 | 0.70 | 0 |
| | 0015 | 37 | 14772-30500 | HUFFLER FRONT DUMPER | ! | 5 5 | 0,50 | 0 |
| | 0015 | 38 | 14781-48000 | HUFFLER COVER | ; | 1 | 0,70 | 0 |
| | 0007 | 39 | 16100-40010 | OIL PUHP ASSY | Jan 1 | 1 1 | 11.00 | 11 |
| | 0007 | 40 | 16731-03100 | OIL PUHP GASKET | ! | 5 5 | 0.40 | 0 |
| | 0015 | 41 | 16810-30500 | OIL HOSE NO.1 | : | 1 | 0.60 | 0 |
| | 0015 | 42 | 16820-48001 | OIL HOSE NO.2 | , | 2 2 | 0,50 | 0 |
| | 0007 | 43 | 21441-20300 | CLUTCH DRIVE PLATE | 10 | 5 | 1,70 | 8 |
| | 0007 | 44 | 21451-28000 | CLUTCH DRIVEN PLATE | 10 | 1 | 0.40 | 4 |
| | 0007 | 45 | 26231-30000 | KICK STARTER SHAFT PANL- | | 2 1 | 1.20 | 2 |
| | 0007 | 46 | 26300-29302 | KICK STARTER LEVER ASSY | | 1 | 3,50 | 3 |
| | 0007 | 47 | 26352-16401 | KICK PEDAL RUBBER | 1 | 5 5 | 0.75 | 0 |
| | I | | · | Grand total | | / | | |

| lave | ice No. | 00375 | Distributor's Code | 1500000 Distributor's AFRICAN ARE | A | 24 | - Page N | o. <u>3</u> |
|-------------|---------|-------------|-----------------------|-----------------------------------|----------|------------|----------|-------------|
| Case No. | Customs | Item No. | Part No. | Part Name | Q'ty | Mint. | F.O.B.J. | panese Port |
| ļ | | | | | | Q'ty | a | Amount |
| | 0007 | 84 | 27511-48100 | ENGINE SPROCKET | 2 | 1 | 1.40 | 2.60 |
| | 0015 | 49 | 27600-36011 | DRIVE CHAIN ASSY | 5 | 1 | 9.20 | 46,00 |
| | 0012 | 50 | 32120-48010 | LIGHTING COIL | 1 | 1 | 2.00 | 2.00 |
| | 0012 | 51 | 32140-48010 | PRIHARY COIL | 1 | 1 | 2.20 | 2.20 |
| | 0012 | 52 | 32240-43012 | CONTACT POINT ASSY | 7 | 1 | 1.40 | 9.80 |
| | 0012 | 53 | 32341-43012 | CONDENSER | 2 | 1 | 0.70 | 1.40 |
| | 0012 | 54 | 33410-43010 | IGNITION COIL ASSY | 2 | 1 | 4.00 | 8.00 |
| | 0015 | 55 | 33500-69810 | SPARK PLUG CAP ASSY | 10 | 10 | 11.00 | 11.00 |
| | 0012 | 56 | 33610-03610 | BATTERY ASSY(095X100X047HH) B | 1 | 1 | 5.00 | 5.00 |
| | 0015 | 57 | 34100-48601 | SPEEDOMETER AND PILOT CASE | 1 | 1 | 12.00 | 12.00 |
| HHH | 0013 | 58 | 35100-29321 | HEAD LAMP ASSY | 1 | 1 | 5.00 | 5.00 |
| | 0013 | 59 | 35111-29320 | HEAD LAHP RIH | 2 | 1 | 1.70 | 3,40 |
| *** | 0013 | 60- | 35601-48601 | FRONT TURN SIGNAL LAHP ASSY | 4 | 2 | 6.00 | 12.00 |
| *** | 0013 | 61 | 35603-48601 | REAR TURN SIGNAL LAMP ASSY | 2 | 2 | 5.00 | 5.00 |
| HHR | 0013 | 61 | 35603-48601 | REAR TURN SIGNAL LAMP ASSY | 2 | 2 | 5.00 | 5.00 |
| | 0013 | 62 | 35612-28420 | TURN SIGNAL LAMP LENS | 10 | 1 | 0.35 | 3.50 |
| KRN | 0013 | 63 | 35710-48600 | REAR COMBINATION LAMP ASSY | 2 | 1 | 5.20 | 10,40 |
| | 0013 | 64 | 35712-35601 | REAR COMBINATION LAMP LENS | 2 | 1 | 1.30 | 2,60 |
| | 0013 | 65 | 38500-48130 | HORN ASSY | 1 | 1 | 1.50 | 1,50 |
| HHH | 0013 | 66 | 8610-39110 | TURN SIGNAL RELAY | 2 | 1 | 2.00 | 4.00 |
| | 0015 | 67 4 | 1991-48000 | ENGINE MOUNTING PLATE | 2 | 2 | 0.80 | 0.80 |
| | 0015 | 68 4 | 3300~48000 | REAR BRAKE ROD ASSY | 1 | 1 | 0.60 | 0,60 |
| ļ | 0015 | 69 4 | 3510-48001 | FRONT FOOTREST BAR | 1 | 1 | 1.80 | 1.80 |
| į | 0015 | 70 4 | 3550-29300 | RH FOOTREST | 1 | 1 | 0.80 | 0.80 |
| | 0015 | 71 4 | 3560-29300 | LH FOOTREST | 1 | i | 0.80 | 0,80 |
| | | | | Grand total | | \nearrow | | |
| | 15. 素料。 | 0525 | fre Sta | | <u>V</u> | | <u> </u> | |

| 8 | Invoic | e No. n | 0375 | Distributor's Code | 1500000 Distributor's AFRICAN ARE | A | 24 | Page | No. 4 |
|-----|--------|----------|------|-----------------------|-----------------------------------|------|------------|---------------|---------------|
| Γ | Case | Customa | Îtem | Part No. | Part Name | Q'ty | Mıni. | F.0.B | Japanese Port |
| - | No. | Code | No. | | | | Q'iy | (C) | Amauni |
| | | 0015 | 72 | 43510~03001 | REAR FOOTREST BAR | 2 | 2 | 0.46 | 0.46 |
| | | 0015 | 73 | 43612-03001 | REAR FOOTREST RUBBER | 2 | 2 | 0.40 | 0.40 |
| | | 0015 | 74 | 44210-23300 | FUEL TANK CAP | 2 | 2 | 1.40 | 1.40 |
| | | 0015 | 75 | 44300-22601 | FUEL COCK ASSY | 1 | 1 | 1,90 | 1.90 |
| | | 0015 | 76 | 44600-31831 | OIL LEVEL INSPECTION LENS | 1 | 1 | 0.36 | 0.36 |
| l | | 0015 | 77 | 51530-48130-291 | HEAD LAHP RH BRACKET | 1 | 1 | 1.60 | 1,60 |
| | | 0015 | 78 | 51540-48130-291 | HEAD LAMP LH BRACKET | 1 | 1 | 1.60 | 1.60 |
| | | 0015 | 79 | 51910-25310 | STEERING LOCK SET | 1 | 1 | 1.30 | 1.30 |
| | | 0015 | 60 | 54410-07002 | BRAKE SHOE | 20 | 10 | 8.00 | 16.00 |
| 1 | | 0015 | 80 | 54410-07002 | BRAKE SHOE | 10 | 10 | 8,00 | 8.00 |
| l | | 0403 | 81 | 55100-25600 | TIRE 2,75-19 070-483HH 3020G | 2 | 1 | 9,00 | 18,00 |
| | | 0015 | 82 | 56110-48103 | HANDLEBAR | 2 | 1 | 2.50 | 5.00 |
| ١, | K#X | 0015 | 83 | 56500-31011 | RH REAR VIEW HIRROR ASSY | 2 | 2 | 2.00 | 2.50 |
|] ; | MMM | 0015 | 83 | 56500-31011 | RH REAR VIEW HIRROR ASSY | 2 | 2 | 2.00 | 2.00 |
| ١, | HHE | 0015 | 84 | 56600-31011 | LH REAR VIEW HIRROR ASSY | 10 | 10 | 10.00 | 10.00 |
| | | 0015 | 85 | 57420-18602 | BRAKE LEVER | 10 | 2 | 2.00 | 10.00 |
| | | 0015 | 86 | 57500-26014 | CLUTCH LEVER ASSY | 2 | 1 | 2,50 | 5.00 |
| | | 0015 | 87 | 57620-45010 | CLUTCH LEVER | 10 | 2 | 2.00 | 10.00 |
| | | 0015 | 88 | 58100-25300 | FRONT BRAKE CABLE ASSY | 6 | 2 | 1.80 | 5.40 |
| | | 0015 | 89 | 58200-48000 | CLUTCH CABLE ASSY | 6 | 1 | 1.20 | 7.20 |
| | | 0015 | 90 | 62100-48000 | REAR SHOCK ABSORBER ASSY | 4 | 1 | 8,50 | 34.00 |
| | ĺ | 0015 | 91 | 64511-48000 | REAR SPROCKET | 2 | 1 | 3.80 | 7.60 |
| | | 0403 | 92 | 65100-25600 | TIRE 3.00-18 077-458HH 3150G | 3 | 1 | 9,50 | 28,50 |
| | | 0158 | 93 | 99000-25030 | SUZUKI SUPER GREASE (C) | 2 | 2 | 1,60 | 1.60 |
| | ļ | 0156 | 94 | 99000-33020 | LIQUID GASKET | 1 | i | 0.70 | 0.70 |
| | | <u> </u> | | | Grand total | | \nearrow | | |
| _ | | 場 まや | 0525 | Jin + 1949 | | | 4 | - | |

| e Custom Code | 1 Item No. | Part No. | Port Name | Q'i7 | Mint. Q'ty | FOBJ | panese Port |
|------------------|---------------|-------------|--------------------------------------|------------------------|---------------|------|----------------|
| 0015 | | 09800-00108 | TOOL SET | 3 | ┼ | 1.30 | Amount 3 c9 |
| | | | | | | | |
| | | | exchange rate Japanese Yen 230 per t | ıs ş . <u>∞</u> | | | |

| | | TXE | 1 | | X X X | | | u) | | | | | <u>;;</u> | | | | · | iù. | | | | | 2,00991 |
|--------------|----------------------------------------------------|------------------------|----------------------------------------------|------------------|----------------------|-------------|------------------|------------------|------------------|-------------|-------------|-------------------|-------------|----------------|-------------|-------------|----------------------------------------------|------------------|------------------|-------------|---------------|------------------|---------------------------|
| | ART VE | ST | ت ا | z | 2 | <u> </u> | ပ | <u> </u> | ور | ٯ | <u>ੂ</u> | _ <u></u> | <u> </u> | <u></u> | | <u> </u> | <u>. </u> | | ر. | <u> </u> | <u>, .</u> | <u>.</u> | - jo |
| OGDER NO HEL | PARTS DEP | RELAARKS | EBAHI | 308 PJAIF | OJEFO | 01030 | 2 + 940 JPBHF | AEBUG | PKAYI | PIAHO | STYNG | 786 PHAHG | 8+700 QIAME | 3+296 30409 | 1.70¢ PI34E | OIABO | 2.450 PJAAA | 328 A&& 1E | AACLH | AAAHF | AAAJH | 3,920 44416 | |
| 78.04.03 | O,LTD EYPORT | ANOUNT | 4,848 | 306 | 456 | 2,570 | 2,940 | 1.070 | 774 | 4,320 | 479 | 786 | B+700 | 96248 | 1.700 | 548 | 2,450 | 328 | 07 | 2,420 | Ŭ6Z | 3,929 | 42,428 |
| CAC OST CODE | TOYOTA NOTCH SALES CO. LTD EYPORT PARTS DEPARTNETS | UNIT PRICE | 4,848.0 | 308.0 | 456.0 | 514.0 | 2,949.0 | 1,070.0 | 774.0 | 854.0 | 574.0 | 786.0 | 2.900.0 | 206.0 | 1,700.0 | 274.0 | 0*067 | 164.0 | 20.0 | 242.0 | 70.0 | 3,920.0 | PAGE TOTAL GRAND TOTAL |
| #4: 1:207-1 | 1 1 1 1 1 1 1 1 1 1 | LOCATI | 8 | | | | | | | | | | | | | | | | | | | | 2 8 |
| | - | O TRF | <u>. </u> | | z | | | | | | | | | | | | | | | | | | |
| 707 | 1EHUS CURHERCY | PART HAME, OLD PART NO | GASKET KIT | SEAL | BEARING, BAL, 12, 32 | ELEYENT KIT | dkud | SEAL | THERYOSTAT | VRELT | HOST | HGSE | FLEVENT | 16 PLUG, W16EP | ดหลว | CONDEVCER | ARM | BRUSH | SPRING.BRUSH | IO BAUSH | SPRING | CARBURETOR KIT | |
| 17rE 921 | ö | | <u>.,</u> | 1 8 | <u>e</u> | R) m | <u>~</u> | S | <u> -</u> | <u>></u> | <u> </u> | <u> </u> | m L | 16 6 | <u> </u> | 2 | N | 2 2 | 2 | 10 B | 4 8 | r. | |
| R-0650- 92 | 8 0 005.7.101 | PHOCESSON ORDERED | | | | r. | ; | | ed . | ··· | ~ | - ₄₁ - | m | 16: | - | . 6 | 'n | 7 | ~ | 9 | - | p-4 | 64 |
| MADAG | 1 1 1 1 1 2 1 2 2 | PPOCESSED PART NO | 04111-31032 | 0002 00311-36002 | 97143-05201 | r4152-21911 | 0005 04161-31021 | 0000 16104-41110 | 0007 90916-03034 | 91016-020(0 | 26572-31770 | 16571-31041 | 17801-1060 | 90919-01027 | 40415-21107 | an0a9-5206n | 19145-26050 | 0016 27371-31011 | 0017 27372-31011 | 28147-21010 | 28143-4004n | 0020 04211-31250 | PAGE TOTAL GRAID TOTAL |
| l: | <u>:</u> - | :: | 0001 |)c5 | 6 E0100 | 7000 | 533 | 9500 | 2000 | 6 000c | 2000 | 0010 | 1100 | مديد م | 0033 | الن 14 ط | 2015 1 | 2016 2 | 2 7100 | 0018 2 | 01.10 | 020 | چ د : |
| ust copf | 5 | 11 €3.5 | č | ŏ | 0 | C | 0 | Ç | | | | | | | | | | | | | - | | |

| FACE 09002 [] ER NO H L 2 2 ARTS OF PARTMENT | S TKE | ی | 42.5 | | | | | | | | | | | | | | | | | | | |
|-----------------------------------------------------------------|--------------------------|-------------|--------------------------|-------------|-------------|------------------|-------------|-------------|-----------------|----------------|----------------|-------------|-------------------------|--------------|------------------|-------------|------------------|----------------|-------------|-------------|-------------|-----------------|
| 15 OF PA | 10 | 1 | | <u></u> | <u> </u> | | z | 2 | <u> </u> | _ 2: | <u>_z</u> | 7, | <u> </u> | z | z | z | z | z | z | <u> </u> | 2 | 20600°d |
| ORCER NO | REMARKS | 3186 | 27868 | OPACE | AAAIG | DIACD | DIAAD | PJAIF | SAAHE | AACLH | 356 PJAHD | PJAIE | SJAHD | AAAJH | PJAIG | DIAHS | CHAHO | DIADS | SHAHE | STADE | PJAHE | |
| CODE OND | AMOUNT | 1,902 | 2,500 23858 | 3,540 | 06 | 1,003 | 316 | 190 | 316 | 62 | 356 | 1,240 PJAIE | 05049 | 106 | 168 | 1.628 | 6+520 CHAHD | 4, 136 | 8,640 OHAHE | 1,288 DIADE | 900 | 40,476. |
| TOYOTA MOTOR SALES CO. LTD EXPORT PARTS OFFARTHEIN | UTIL PRICE | 634.0 | 2,000.0 | 3,540.0 | 0.00 | 1,028.0 | 316.0 | 190.0 | 316.0 | 62.9 | 356.0 | 248.0 | 3,040.0 | 196.7 | 168.0 | 1,628.0 | 3,265.0 | 1.034.0 | 4,320.0 | 322.0 | 400.0 | PAGE TOTAL |
| OVOT | LOCATION | \$ \$ | | | | | | | | | | | ,,, | | | | | | <u>, </u> | | <u>,</u> | 186 |
| 0 | TRF | e e | | | | | | | | | | | | | | | | | | | | |
| TERLIS CURRENCY 61 4 | D PART MANIE/OLD PART NO | 3 FILTFR | 1 DEARING, BAL, 40, 63 F | 7 2150 | 1 040,05041 | 1 CYLINDER KIT | 1 CYLINDER | 1 SEAL | 1 SEAL KIT, EXT | ו פפגר יטטגד | 1 SEAL | 5 SEAL | Z BEARING, BAL, 40,90 K | 1 SEAL | 1 SEAL, S GIL | 1 CYLINDER | 2 SHOF KIT | 4 CYLINDER KĮT | 2 SHOE | 4 CUP KIT | 2 SEAL | |
| 0001A11014 | ONDERED | | | | | | | | | | | | | | | | | | | | | |
| 8 0 0001A11 | | ÷ m | 64 | -d | ~ | | н | H | ~ | 7 | г _г | ٧, | 2 | H | <u>н</u> | p-l | ~ | 4 | ~ | 4 | N | 38 |
| T ACKING TWE | PROCESSED PART NO | 23030-31030 | 60007-19466 | 31250-78011 | 31321-14010 | 0625 04311-20050 | 04315-30442 | 90125-11500 | 04332-30010 | c0303-25010 | 90311-36133 | 90310-50039 | 07144-06309 | 99311-18091. | 0034 9031n-32024 | 04471-26020 | 0036 04494-26030 | 01092-6443 | 04495-26070 | 0500-92550 | 90311-50136 | 20. I AGE TOTAL |
| | 15 17 A 17 EN. | 1200 | 2206 | 6200 | 0024 | 9625 | 9260 | 1216 | 5250 | منده | 05.00 | 9n31 | 2600 | 6500 | 0034 | 9500 | 9600 | 7600 | 9600 | 0600 | 0040 | 20. |

| | <u>. w</u> | 4 | | ! | | | un . | | | | | ပ္ | | | | | -22 | | | | | 유 등 |
|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------|----------------------|-------------------------|-------------------|-------------------|-------------|-------------|-------------|----------------------|-------------|-------------|-------------|-------------|-------------|--------------------|-----------------|-------------|-------------|-------------|-------------|--------------------|------------------------------|
| 00003[13] | 1 | , A | 447 | Z | _ z | ?; | . X. | <u> </u> | 7 | 7. | <u>~</u> | ž | × | 7. | <u> </u> | 3: | <u> </u> | ر | <u>_</u> _ | ب | 3 ; | P.00903 |
| Onbig 1,0 | FELLARKS | DJAHF | DJAHF | 3HA F F | 2H4HG | GGAIF | 670 POCIS | PJATE | アンタルド | 234HF | PCAIF | POAIF | PJAIF | ОЗАНЕ | POCIG | AAAJH | POAIS | IHACA | POCIF | FICIF | PPADF | |
| 78.26.2 | AMOUNT | 3,424 | 3,116 DJAHF | 5,810 | 5,800 | 5,520 004IF | 670 | 1,760 | 352 | 852 | 1,760 | 1.760 | 674 | 674 | 864 | 140 | 610 | 300 | 3,200 POCIF | 320 | 2,000 | 960-05 |
| DIST CO | UNIT PRICE | 1,712.0 | 1,559.0 | 2,010.0 | 2,900.0 | 2,750.0 | 134.0 | 176.0 | 855°u | 852.0 | 176.0 | 176.0 | 674.0 | 674.0 | 144.0 | 140.0 | 122.0 | 0-09 | 32.9 | 32.0 | 1,000.0 | PAGE TOTAL GRAND TOTAL |
| 1. The state of th | LOCATI | · - - | | | | | | | | | | | | | | - | | | | | | 1 0 |
| FSSE7 | TRF | <u>.</u> z | | | | | | | | | | | | | | | | | | | | |
| EMENT SHEEPanc | D PART HANE, OLD PART NO | 2 8542146,8TP,34,65 | 2 SEARING, RTP, 21,50 N | Z ASSORBER, SHOCK | 2 4 4 S U 2 4 E R | 2 SEALED | 5 3015 | เอ ่อบเอ | 1 LEns | 1 LENS | ธากร เ | ารูกเร | 2 L ENS 1 | 1 Levs | ราบเร _ิ | I LENS, LICENSE | ร รบเธ | s =use | FUSE . 10A | FUSE, 15A | 2 8LADO | |
| V L E LU 30 & 177E 0-H 92; 0-R 92; 0-R 64 | OFIDERED | | | | | | - | Ä | | •• | 10 | 10 | - | • | ~ | - | • | 41 | 100 | CI | 14 | |
| Outry 10 5 17 | | 2 | 2 | 2 | N | ~ | iv. | 01 | A | | O. | 10 | | A | \$ | | ٧. | in. | 100 | 01 | ~ | 178 |
| 1655) L LANIS ONDER Dat cook prante: Paanat Signit Facking Type | PROCESSED PART NO- | 90 <i>368-</i> 34039 | 9^362-21065 | 48511-29015 | 48531-29385 | 90431-01018 | 05011-22166 | 40132-11230 | 81511-05A <u>0</u> 3 | 61521-95A03 | 9°132-11230 | 99132-21210 | 81551-25769 | 51551-75540 | 99132-11100 | 81271-10019 | 99132-12034 | 99118-62015 | 90112-62013 | 90118-62915 | 0.060 85.220-95400 | ויאטב זסואר כוואזים זסואר |
| 1 127 11 | | 0041 | | 0043 | | | | _ | | | | | | | | | | | | 0500 | <u></u> 1 | |

| - | | | | _ | , | | | | | <u>د.</u> | | | | | ᄗ | | | | | 5 | | | | | <u> </u> | _ |
|-----------------------------|----------------------|------------------|----------------------------------------------------|-----------------------|-------------|----------------------|----------------------|------------------|------------------|-------------|------------------|------------------|--------------|-------------|-------------|-------------|------------------|------------------|------------------|-------------|------------------|------------------|-------------|--------------|---------------------------|-----------------------------------------------------------|
| | ī | 7 | WENT | X X | 2 | ž | X. | 7 | 2. | | ž | ž | X | 1 | 3. | × | X | <u> </u> | x | X. | z | 5 : | × | X | 2.01020 | ļ |
| PAGE DOOD | | | VARTS DEPART | REMARKS | PJAHE | DJAHÐ | OJAHF | EAAHF | CHAFD | QHADE | ODAIF | Pacif | POAIF | AAAHH | AAAII | POAIF | PDAIF | POAHF | POAHE | POATG | AACLH | AACLH | POCIH | POAIG | α | 11. 15. 11. 11. |
| 78-06-11 | - | | CO.LTD EXPORT- | AMOUNT | 2,912 | 60849 | 2,200 | 4,240 | 6+320 | 6,320 | 11,049 | 1,340 | 1,440 | 703 | 708 | 1,440 | 1,760 | 2,460 | 2,450 | 1,440 | 118 | 128 | 1,590 | 1,220 | 59,634 | 10 1 1 10 70 70 20 10 10 10 10 10 10 10 10 10 10 10 10 10 |
| ON.≯ DATE | C.D DIST COD | DA5], | TOYOTA MOTOR SALES CO. LTD EXPORT-PARTS DEPARTMENT | UNIT PRICE | 728.0 | 3 • 400 • 0 | 2,600.0 | 4,240.0 | 3,160,0 | 3.160.0 | 2,760.0 | 134.0 | 144.0 | 708.0 | 708.0 | 144.0 | 176.0 | 2,460.0 | 2,460.0 | 144.0 | 118.0 | 128.0 | 158.0 | 122.0 | PAGE TOTAL GRAND TOTAL | Y'a IT |
| PORTION> | 27 48 68 94 51 275.1 | | TOY | TRF LOCATION | \$ | | | | | | | | | | | | | | | - | | | | | | |
| ES 5.5 | 1 | | | | ε | × | × | | | | | | | | | | | | | | | | | | 1 | |
| EMENT SHEET SOCESSES | TRANSPORT | TERMS CURRENCY | 4 | PART NAME/OLD PART NO | SEAL | BEARING, RTP, 50, 82 | BEARING, RIP, 45, 73 | GASKET | 4.9SURBER | ABSORBER | SEALED | งการ | ลบ เช | LENS | Lens | อกเอ | 8018 | LENS | LENS | ระเล | LEMS, LICENSE. | LENS | อบเล | B UL8 | | |
| LEDG | ORDER NO & 1YPE | TATION | | ORDERED | 4 | 8 | 8 | H | 8 | 7 | 4 | 10 | 2 | 1 | H | 10 | 10 | ~H | <i>H</i> | 10 | H | - | 2 | 10 | | |
| ACKNOW | 090ER 1 | B/O QUOTATION | 11 | | 3 .g. | ~ | 2 | H | ~ | 2 | 4 | or . | or | ਜ | pd | 10 | 10 | Ħ | rd | OT. | <u>_</u> | rl. | 101 | 70 | 93 | |
| PARTS ORDER ACKNOWLEDGEMENT | DESTINATION | ENT PACKES TYPE | | PROCESSED PART NO | 90311-62001 | 90368-49084 | 0063 90368-45087 | 0064 04434-60011 | 0065 48511-69047 | 48531-69057 | 0067 90981-01018 | 0065 99132-11050 | 99132-11210 | 81511-60211 | 81521-60080 | 99132-11210 | 0073 99132-21210 | 0574 81551-60290 | 0075 91561-60210 | 99132-11075 | 0077 81271-20030 | 0078 81279~20030 | 90981-11004 | 99132-12034 | PAGE TOTAL GRAND TOTAL | |
| (2297) | 1 3000 180 | PARTIAL SHIPMENT | 11. | ν, Α 11ξεν Ο 1, Α | 0061 | 2900 | 0063 | 00064 | 5906 | 9900 | 1900 | 0065 | 6900 | 0000 | 1700 | 27.00 | 0073 | 2250 | 0075 | 9200 | 7.00 | 9008 | 6200 | | 20. | |
| | | | . ` | | | | | | | | | | | | | | | | | | | | | | | • |

| 2 - | 12 |
|-----|----|
|-----|----|

| ~~~~ | | _, | | | | | · | | | | <u>.</u> | <u> </u> | | <u>?;</u> |
|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------|-------------|-------------|-------------|---------------|-------------|-------------|---------------------------------------|--------------|-------------|----------|-------------|----------------|----------------|
| 901951727 | THAENT | <u></u> | ب | بـ | | 1 : | | | | | | | | 7.01021 |
| 5 | ARTS DEPAR | Pacif | PACIF | Pacie | POCIF | PADO | | | ; | | | : | | |
| OADE | ON UNIT PRICE AMOUNT REMARKS TKE | 320 | 320 6 | 320 | 320 6 | 3,200 PPADD | | | · : | <u> </u> | | • | | 4,480. |
| 3000 | S CO.LT | | | <u> </u> | . | | · · | | ! | | | • | | |
| DIST. CODE | UNIT PRICE | 32.0 | 32.0 | 32.0 | 32.0 | 800.0 | | | : | | | | | TOTAL |
| 0.55 10.55 | DA PO | 72 | | | | | | | : | | · | | | PAGE TOTAL |
| P. Samon C. | LOCATION | * | | | | | | | ! | | | | | |
| 2 | TRF LO | 3 | | | | | | _ | . | | | | ··· | |
| 100 | | ç | | | | | | _ | ; | | | <u> </u> | ··· <u>···</u> | |
| DESTINATION ORDER NO & TYPE TRANSPORT C" 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K 1 K | CD PAR | | | | | œ | | | : | | İ | | | |
| TRAINSPORT 2 CURREI 4 | PART NAME/OLD PART NO | ,15A | ,20A | 54 | ,10A | SLADE,WIPER | | | | | Ì | | | |
| TERMS | | FUSE, 15A | FUSE, 204 | FUSE, SA | FUSE, 10A | | | | : | | : ! | | | |
| ORDER NO & TYPE 1-06-11-4 921 0-007-41-0N 6 | TITY ORDERED | 10 | 10 | 10 | 10 | 4 | | | : | | 1 | | | |
| R-06 1 -4 9 0001 ATTON | OUANTITY PRCCESSED ORDER | , o1 | 01 | 20 | CI | 4 ; | | | 1 | | | | | - 3/4 |
| 8,0 | 11 | Z R | · | | | | | <u> </u> | : | | · | | | $ \mid$ \mid |
| ESTINATION PACKING TYPE 1 | PROCESSED PART NO. | | _ | | _ | _ | | | | | ! | • | | PAGE TOTAL |
| DESTINATION PACKING TY | ESSED (| 99118-62915 | 99118-62929 | 99118-62905 | 99118-62910 | 85220-26010 | | | • | | : | | | PAGE |
| i MENT | | | 99118 | 90118 | 99118 | | | · · · · · · · · · · · · · · · · · · · | , | | • | • | | |
| PARTIAL SHIPIAENT | , ITEM | 0081 | 2806 | 0083 | 7800 | 900 | | - | | | | | | |
| DIST CODE PARTIAL SHI | 0 8. | - | | | | | | | | | | | | |

INVOICE & PACKING

Spare Parts for TCYOTA ROUND CRUISSR STATICH WAGCH

CANO. 10

| | | | • | | | • | ^ | | | | | 9 | | | | | <u>≏</u> | | | | | . F- |
|-------------------------------------------------------------------------------------------------------------------|----------------------------|-------------|-------------|-------------|---------------------|--------------|------------------|-------------|--------------|-----------------------|---------------|-------------|-------------|----------------|--------------|--------------|--------------|-------------|-------------|-------------|-------------|---------------------------|
| 7 7 | TXE | U | z | z | NSA | ıs | U | ပ | 3 | ن | ဖ | ය | દ | <u>و</u> | 5 | z | ပ | z | <u> </u> | ي | ر | P.01017 |
| ONDER NO HALL | REMARKS | EAAHE | 420 AAAIF | AAAFE | DJAHF | OTABC | QPAHE | QPAIG | PHAHF | PKCIE | OSAHH | PIAIE | PHAHE | PHAIG | PHAIG | AAAHF | SIAIF | AMAIH | AABLH | AAAJH | DOADD | a |
| 78.04.11 one one | AMOUNT | 7,300 | 420 | 380 | 900 | 4,840 | 4,640 | 2,000 | 832 | 1,278 | 104 | 2,503 | 1,348 | 896 | 758 | 392 | 6,720 | 632 | 78 | 692 | 770 7 | 41,772 |
| ORTION PAGE 00001/25 ODAS | UNIT PRICE | 7,300.0 | 210.0 | 38.0 | 450.0 | 0.836 | 4,640.0 | 2,000.0 | 416.0 | 1,278.0 | 52.0 | 1,304.0 | 674.0 | 448.0 | 384.0 | 196.0 | 3,360,0 | 632.0 | 78.0 | 346.0 | 0-902 | PAGE TOTAL GRAND TOTAL |
| מציל אפן | TRF LOCATION | ă - | | | | | | | | | | | | | | | | | | | | |
| TRANGPORT CURRENCY L 0 L 0 | PART NAME/OLD PART 110. TI | <u>:</u> | > | <u> </u> | AL,15,35 | ונר | | | Ŧ | <u> </u> | , | | RADIATOR | ATOR | - | ۳. ع | # H | | | | <u>.</u> | |
| TEANS 2 | 1 | GASKET | PLUG. SCREW | 10 GASKET | BEARING, SAL, 15,35 | ELEMENT, OIL | PUKP | ROTOR | HOSE, BYPATH | THERMOSTAT | GASKET | SELT | HOSE | HOSE, RADIATOR | HOSE | GASKET, PIPE | ELEMENT, AIR | GASKET | GASKET | GASKET | אוא סחום | |
| ORDER NO & TYPE 1-0.5 51 - H 921 0007ATION 6 | 1TY ORDERED | | 7 | 10 | 7 | īV. | 1 | H | ~ | - | ~ | 7 | 7 | 2 | 61 | 2 | 7 | 1 | | 2 | 54 | |
| 0RDEN NO 4 R-0551-H B,0 0006/ATB | ACCESSED ONDERED | | 7 | 10 | 2 | <u>s</u> | 7 | 9-4 | 2 | PI. | ~ | 2 | 2 | 2 | 7 | ~ | 2 | <u> </u> | <i>A</i> | 2 | 24 | 19 |
| DESTIIIATION ORDER NO & TYPE TRANSPORT MADAGASCAR TENIS PACK-NG TYPE B.O GUGIATION TERMS CURRENCY 1 9 6 6 61 4 | PROCESSED PART NO | 04111-51012 | 90341-25054 | 90430-25013 | 97 120-06202 | 15600-41010 | 0006 04161-61011 | 04162-61011 | 16261-60011 | \$1020 - 91606 | 15341-60020 | 99916-02044 | 16571-60140 | 90916-01055 | 40916-01137 | 00017-06003 | 17801-60050 | 90430-10164 | 17845-60040 | 17848-61011 | 90919-01920 | PAGE TOTAL GRAND TOTAL |
| DIST. CODE 1 PARTIAL SHIPMENT | ITERA | 000 | 2006 | £000 | ئنند | \$000 | 9000 | 2000 | 8000 | ٥٠٠٠ | 0000 | 1100 | 2100 | 6100 | 7106 | 2000 | 9100 | 2012 | 8100 | 9019 | 0020 | 02 |

| | | | | | | · | | | | | | | | | | <u>u</u> | <u></u> | | | | H | <u>~</u> |
|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------|----------------|------------------|----------------|-------------|-------------|-------------|---------------|-------------|-------------|-------------|-------------|-------------|-------------------|-------------|-------------|-------------|--------------|-------------|------------------|------------------|---------------------------|
| 2 L | TKE | ر_ | ب | ر | ب | | ب | | | ب | ی | ی | ی | X X | z | Z | z | z | z | 2 | Z | P-01018 |
| PAGE 00002 [22] ER 10 H.1. 2 ARTS DEPARTMENT | REMARKS | PIAIG | QIADD | 220 QIADF | arcos | PJAAA | 328 AAA1E | AACLH | AAAIF | AAAJH | экехс | AAAHG | PPACO | 0.7400 | OPASB | AAAHG | CHAKH | DIAHE | 644 OIAFF | ЕААНН | AAAHG | |
| 78.04.11 PAGE 110 PAGE 110 ORDER 110 | AMOUNT | 3,200 | 830 | 220 | 1,644 | 2,459 | 328 | 09 | | 280 | 4.780 | 1.804 | 1,258 | 3+800 | 6.200 | 184 | 076 | 1,056 | 779 | 767 | 242 | 31,482 |
| ORTION DATE TR. 04. 11 PAGE 00002 [7]. CAD DIST. CODE ORDIN NO H.A. DAS | UNIT PRICE | 3,200.0 | 830.0 | 220.0 | 274.0 | 490.0 | 164.0 | 20.0 | 242.0 | 70-0 | 4,789.0 | 1,894,0 | 634.0 | 3,800.0 | 6.200.0 | 184.0 | 0.076 | 1,056.0 | 0.449 | 0.767 | 242.0 | PAGE TOTAL GRAND TOTAL |
| P | LOCATION | A | | | | · | | | | | | | | | | | | | | | | |
| 1 0 1 | TRI | \$ | | | | | | | | | | | | <u>.</u> | - | | | | | | <u>_</u> | - |
| EMENT SHEETROC TRANSPORT TERMS CURRENCY | PART NAME/OLD PART NO | CORDSET | CAP SUR ASSY | ROTOR SUB ASSY | CONDENSER | ARM | вкизн | SPRING, BRUSH | экизн | SPRING | CARGURETOR | PUWP KIT | FILLTER | BEARING.BAL,52,97 | DISC | PAD, PEDAL | HOSE | CYLINDER KIT | CYLINDER | GASKET | PLUG.SCREW | |
| NOWLEDGI | ITITY ORDERED | and | 7 | -1 | 9 | 8 | 8 | ຕ | 4 | 4 | | | 2 | ,-4 | ,1 | - | H | | | e-4 | | |
| ACKNOWLED ORDER TO BE TO COLORATION OF T | PROCESSED ORC | ³ → | 7 | ~ | 9 | Ŋ | 8 | n | * | 7 | p=1 | н | 2 | | pd | el | rd | <u>-1</u> | 7 | Ħ | <u> </u> |] |
| PARTS ORDER A DESTINATION ENT PACKING TYPE | PROCESSED PART NO. | 90919-21037 | 0022 19101-41010 | 19102-41010 | 19133-60040 | 19145-26060 | 11015-17572 | 27372-31011 | 28142-10011 | 28143-49040 | C4211-61061 | 04231-61010 | 23030-69630 | 90363-52086 | 31250-65010 | 31321-61010 | 96920-31305 | 04311-60030 | 04313-60020 | 9639 04331-60032 | 0040 90341-18057 | PACE TOTAL CHAMD TOTAL |
| 1655) L P. DIST CODE PARTIAL SHIPMENT | 17.514 | 9021 | 0022 1 | 0023 1 | 1024 1 | 9025 1 | 002k 2 | 9627 2 | 9028 | 2 6206 | 0630 | 1500 | 2032 2 | 6633 | 0034 | 0035 | 9800 | 0037 | 3500 | 9630 | 0500 | ٠ |
| L1655) DIST CC | 30 R, | | | | | | | | | | | | | | | | | | | | | - |

| Ŋ | | -, | | | | | | ٠ | ^ | | | | | <u>:-</u> _ | | | | | 2 | | | | | 3 0- | - |
|------|------------------------------------------------------------------------------------------------|----------------------|----------------------------------|-------------|-------------|----------------------------------------------|-------------|-------------|-------------|----------------------|-------------|-------------|--------------|--------------|-------------|-------------|-------------|-------------|-------------|-------------|-------------|-------------|-------------|---------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| No.3 | | 7 | TKE | ی | z | 2 | z | z | z | ¥ 7. | 2 | z . | >: | z | 7 | z | × | z | z | z | z | 2 | z | P.010 | |
| | PACE OCODY | | REMARKS | EOAHE | 210 AAAIF | PJAIG | EAAHF | PJAIG | AAAHG | DJAFE | PJAIF | PJAIG | DAAHF | DAAHE | AAAHS | GIAHE | AHAIF | QHAHD | DIAAE | EAAHC | OIAHF | OHAHE | OHACF | | 50 10,4 |
| | 78-74.11 PAGE | | ON UNIT PRICE AMOUNT REMARKS TKE | 700 | 210 | 300 | 929 | 932 | 242 | 4,240 | 1,328 | 168 | 2,660 | 2,060 | 184 | 4,120 GIAHE | 09849 | 27,100 | 1,288 | 13,690 | 1,800 DIAHE | 1.880 CHAME | 1,340 | 71,132 | the section of the last statement and the section of the section o |
| | ON DATE | DA5 | UNIT PRICE | 14.0 | 210.0 | 300.0 | 620.0 | 0-997 | 242.0 | 2,129,0 | 332.0 | 168.0 | 2,660.0 | 2,060,0 | 184.0 | 4,120.0 | 6,360.0 | 5,420.0 | 322.0 | 2,720.0 | 450.0 | 0*0% | 1,340.0 | PAGE TOTAL GRAND TOTAL | Ter |
| | PORT: | | LOCATI | 3 | | | | - | | | | | | | | | | | | | | | | PA PA | |
| | 77.5 | 0 | TRE | c | | <u>. </u> | | | | × | | | | | | | | | | | | | | } | |
| | PARTS ORDER ACKNOWLEDGEMENT SHEET CESSED DESTINATION CHOER NO & TYPE TRANSPORT CAPINISMS | TERMS CURRENCY | NAME/O | GASKET.PLUG | PLUG | SEAL | GASKET KIT | SEAL | PLUG, SCREW | BEARING, RCY, 47, 70 | SEAL | SEAL+S OIL | END, TIE AOD | END, TIE ROD | PADPPEDAL | PISTON KIT | BOOSTER KIT | SHOE | CUP KIT | SHOE KIT | CUP KIT | HOSE | ноѕе | | |
| | NOWLEDG | -н 921 Татюк 6 | D ORDERED | 20 | H | - | | ~ | 1 | 2 | 4 | ~ | ~ | -4 | | -4 | =4 | 10 | 4 | 16 | 4 | 8 | - | | |
| | ACKNOW | B.O QUOTATION 9 6 | OUANTITY PROCESSED ORDE | 20% | - | 4 | H | 2 | - | 2 | 4 | ٦ | ~ | F4 | | -4 | p-6 | W | * | w | 4 | 2 | H | 99 | |
| | PARTS ORDER | PACKING TYPE | PRCCESSED PART NO. | 12157-10010 | 90341-18002 | 90311-28004 | 04362-60030 | 90311-38134 | 90341-19057 | 90365-47013 | 90311-47091 | 90310-32024 | 45046-69055 | 45.046-69035 | 31321-61010 | 04493-60020 | 04443-60030 | 07609-56550 | 04475-25010 | 04494-60010 | 0447669032 | 90947-02228 | 90947-02239 | PACE TOTAL CRAND TOTAL | |
| { | | PARTIAL SHIPMENT | ITEIA | 0041 | 2200 | 60043 | 9500 | 0045 | 9500 | 0247 | 9048 | 6500 | 0500 | 1500 | 0052 | 0053 | 9054 | 9500 | 9500 | 0057 | 9550 | 6500 | 0906 | | |
| | LI 655) L | PARTIA | о У | | <u> </u> | | <u> </u> | | . <u>~</u> | | <u>-</u> | <u>-</u> | <u> </u> | <u> </u> | <u> </u> | · <u>·</u> | | | | | | <u> </u> | | • | |
| 1 | <u> </u> | لــــا | لت | | | | | | | | | | | | | | | | | | | | | | , |

Livestock Development Project in Northern Madagascar

(Fiscal Year 1978)

| SHIPMENT | CONVEYANCE | EMBARKED | DISEMBARKED | C.I.F. | VALUE | B/L NO. | TOTAL | MAIN EQUIPMENT AND MATERIALS | REMARKS | PAGE |
|----------|------------------|--------------|--------------|------------|-------|---------|-------|---------------------------------------------------|--------------------|-------|
| number | BY SEA BY AIR | DATE | DATE | YEN | US\$ | | ITEM | | (ATTACHED INVOICE) | |
| 1 | Sea | 13 Nov., '78 | 17 Dec., '78 | 18,139,565 | | 001922 | 1 | Storehouse (2), Stable (1) | 1 | 22 |
| 2 | Sea | 20 Dec., '78 | 22 Jan., †78 | 27,993,835 | | 001926 | 1 | Tractor, Root Rake, Discharrow, Dump Trailer etc. | 2 | 23~30 |
| | | | Total | 46,133,400 | | | | | , | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to : CHEF DE SCE PROVINCIAL DE L'ELEVA GE DE DEIGO-SUAREZ, SERVICE | No : |
|---------------------------------------------------------------------------------------------------------------|----------------------------|
| PROVINCIAL DE L'ELÉVAGE DE DIEGO-SUAREZ, DIEGO-SHAREZ, MADAGASCAR (FOR LIVERSTUCK PROJECT, DR. FUNATSU) | Date: November 15, 1978 |
| *************************************** | Shipped per "MAYASAN MARU" |
| Shipping Mark: | from Yokohama, Japan |
| LIVERSTOCK PROJECT SIDE MARK | to Diego-Suarez |
| JICA TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | via Tanstabe |
| DIEGO-SUAREZ C/No. 1 - 10 | on November 15, 1978 |
| MADE IN JAPAN | Export Licence No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|----------------------------------------|----------------------------------|---------------|----------------------------------------------|
| | | | NO COMMED | CIAL VALUE JAPAN |
| | SIMPLE STOREHOUSE | 2 units @ | £3,060,000. | - ¥6,120,000 |
| | STABLE | 1 " | | 4,880,000 |
| | TOTAL: | 3 units | | ¥11.,000,000 |
| | | Shipping Ocean Fr Insuranc | eight | 492,673 6,522,179 12 ⁴ ,713 |
| | Japan international cooperation agency | C.I.F. D | TEGO-SUARE | ¥18,139,565 |
| | To ba It | | | |
| | Hills Indianal | | E.& | .O.E |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to : CHUF DE SCE PROVINCIAL DE L'ELEVAGE DE DIEGO-SCAREZ, | | No: |
|---------------------------------------------------------------------|-------------------------------------------------------------------|-------------------------------|
| | SERVICE PROVINCIAL DE L'ELEVAGE DE DIAGO-SUAREZ, DIEGO-SUAREZ, | Date: December 20, 1978 |
| | MADAGASCAR (FOR LIVESTOCK PROJECT, DR. FUNATSU) | Shipped per "SHINSAKURA MARU" |
| Shipping N | Mark: | from Yokohama, Japan |
| LI | VESTOCK PROJECT | to Diego-Suarez |
| ⋖ | JICA SIDE MARK TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | via Tamatave |
| - do - C/NO.2-1-2-2, | DIDGO-SUAREZ | on December 20, 1978 |
| 3-2 | C/No. 1-1-1-6, 3-1, 4-1-4-2 | |
| | MADE IN JAPAN | Export Licence No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------------------------------|----------------------------------------|-----------------|------------------------------------------------|------------------------------------------------------|
| | LIVESTOCK PROJECT | | NO COMME | CIAL VALUE X JAPAN |
| 1-1-1-6, 2-1-2-2, | - Details as per attached sheet - | 1 lot | | ¥22,900,000.÷ |
| 3-1-3-2, 4-1-4-2 TOTAL: | 12 Packages only | Ocean Insura | ng Charge Preight nce Prem. DIEGO-SUA | 420,390 4,528,904 144,541 EZ ¥27,993,835 |
| | IAPAN INTERNATIONAL COOFTRATION AGENCY | | | |
| | Shibayah Haran President | | | 40.E |

- Attached Sheet -

.*

| Item No. | | Description | Q'ty_ | Amount |
|----------|--------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------|--------------------------|
| 1 | D5B | DD Tractor with Accessories Spare parts for Tractor | l set l set | ¥12,580,000 1,258,000 |
| 1. | D5 | (- attached sheet (A) -) Root Rake Spare parts: 222-0026-201 Tooth 1 pc. F1025-24240 Bolt 6 pcs F2515-24000 Washer 10 " F2300-24000 Nut 10 " F2305-20075 Bolt 4 " | | 1,470,000 147,000 |
| 2. | мғ185 | F1025-24075 Bolt 4 " Tractor with Accessories Spare parts for Tractor (- attached sheet (B) -) | 1 set (Made in U 1 set | 3,820,000 .K.) |
| 3. | SUGANO | 16" x 2F Steel Plow Spare parts: Bar Point 3 pcs. Shin 3 " Share 3 " Share Bolt 30 " Bolt 5 " | l set l set | 300,000 80,000 |
| 4. | MF-28 | Discharrow (Made in U.K.) Spare parts: 1837218 M2 Bearing 2 pcs. 1887541M1 Disc 1 pc. 1887543M1 Disc 1 " 1837217M1 Pin 3 pcs. | l set l set | 500,000 70,000 |
| 5. | №438 | Disc Mower (Made in U.S.A.) Spare parts: 532542 Arm 1 pc. 66317 Spring 2 pcs. 380423 Bolt 1 pc. 159837 V Bolt 1 " 534744 Blade 16 pcs. 382359 Bolt 16 " 537140 Nut 16 " 159863 Bearing 4 " 159911 Spacer 4 " 159879 Swath Board 1 pc. 151986 Spring 1 " 120048 Bolt 1 " 100095 Nut 2 pcs. 151979 Swath Stick 1 pc. | l set l set | 760,000 150,000 |

- 2 -

| Total: | | | | 1 lot | | x-Factory ¥22,900,000 |
|--------|---------|--------------------------------------------------------|-----------------------------------------------------------------|----------------------------------------------|--------------|--------------------------|
| 7. | н-181 | Dump Tr Spare p Tyre Tube Hose | | 1 pc. 1 " 1 " | l se | |
| 6. | нкх-620 | Hayrake Spare p 14384 36133 91474 91649 | (Made in Nethe arts: Bar Spring Tine Hub Bearing | l pc. lo pcs. l pc. l pc. l pc. l pc. l pcs. | l'se l se | ******* |

| Item No. | Description | Q'ty |
|----------------------|----------------|------|
| 1. SPARE PARTS FOR I | | |
| PART NO. | PART NAME | |
| 2A4 429 | rock | 10 |
| 5A5820 | BRUSH | 4 |
| 5A6717 | FILTER A | 25 |
| 5A8374 | ROLLER G | 2 |
| 5A9536 | SHANK (9J3139) | 1 |
| 981363 | SPRING | 2 |
| 1F4583 | SEAL | 1 |
| 3F5108 | BOLT | 108 |
| 4F5004 | SPRING A | 4 |
| 7F8267 | SEAL-O RING | 2 |
| 7 F8267 | SEAL-O RING | 2 |
| 8 F9206 | SEAL-O RING | 4 |
| 1H6227 | SEAL-O RING | 2 |
| 1H6227 | SEAL-O RING | 2 |
| 1119696 | SEAL-O RING | 1 |
| 2 H3928 | SEAL-O RING | 4 |
| 2H6338 | SEAL-O RING | 1 |
| 7H2423 | RING | 2 |
| 7н3597 | BOLT | 40 |
| 7н3607 | NUT | 60 |
| 8н9204 | WASHER | 2 |
| 8H9520 | SEAL | 1 |
| 8H9520 | SEAL | 1 |
| 9115729 | WASHER | 2 |
| 9115746 | VALVE | 2 |
| 9H5797 | PLUNGER A | 6 |
| 3J1907 | SEAL-O RING | 4 |
| 3J1991 | GASKET | 4 |
| 4J0816 | ELFMENT A | 48 |
| | 06 | |

| PART NO. | PART NAME | QTY | 2 - 5 |
|----------------|--------------|----------|-------|
| 6 J0277 | END BIT | 4 | |
| 6J0278 | END BIT | 4 | |
| 7 J6845 | RETA INER | 12 | |
| 7 J6846 | PIN | 12 | |
| 7J9474 | EDGE | 8 | |
| 9J0765 | SEAL KIT | 1 | |
| 9 J8920 | TIP | 12 | |
| 4K0367 | NUT | 108 | |
| 7K8571 | ROLLER G | 3 | |
| 7K8572 | ROLLER G | 3 | |
| 1M1077 | SEAL | 2 | |
| 1н1408 | NUT | 40 | |
| 1M3506 | RING | 2 | |
| 1M5898 | SEALED UNIT | 4 | |
| 1M7914 | RING | 1 | |
| 1M8747 | SEAL G | 1 | |
| 2M2858 | SEAL G | 2 | |
| 2M2.858 | SEAL G | 2 | |
| 2N4314 | BUSHING | 2 | |
| 4M7021 | SEAL | 1 | |
| 4M7022 | RING | 1 | |
| 4119334 | ELEMENT | 3 | |
| 7M7821 | BEARING | 3 | |
| 8M1584 | VALVE G | 6 | |
| 9N4849 | SEAL | 2 | |
| 8M4988 | SEAL-O RING | 3 | |
| 8M8948 | FUSE | 3 | |
| 9м9740 | ELEMENT A | 48 | |
| 4n4864 | PUMP G | 1 | |
| 6น8190 | GASKET | 1 | |
| 7N0208 | RECULATOR | 1 | |
| 119956 | BOLT | 6 | |
| 356170 | राहार भगाज द | - 27 - 2 | |

| PART NO. | PART NAME | QTY | 2 - 6 |
|----------------|-----------------|-----|-------|
| 3P1103 | STOPPER | 6 | |
| 3P2274 | BOLT | 32 | |
| 3 P3043 | LINK | 6 | |
| 3P3044 | LINK | 6 | |
| 3P3045 | LINK | 6 | |
| 3P3046 | LINK | 6 | |
| 3P3080 | PLUG | 6 | |
| 3P3878 | RING | 12 | |
| 3 P3879 | BUSHING | 6 | |
| 3P3880 | PIN | 6 | |
| 3P3883 | SEAL A | 12 | |
| 3P3889 | SHOE | 8 | |
| 8P1857 | SEAL G | 2 | |
| 894237 | CASKET | 1. | |
| 9P0984 | SEGNENT | 20 | |
| 2\$1286 | ELEMENT | 3 | |
| 381751 | SEAL | 4 | |
| 388182 | BOLT | 60 | |
| 3s9730 | BEARING | 3 | |
| 580826 | SHOE (5S0821) | 10 | |
| 585912 | RETA INER | 5 | |
| 586281 | GASKET (6N7263) | 1 | |
| 5s6348 | NUT | 6 | |
| 586449 | VALVE | 3 | |
| 586452 | VALVE | 3 | |
| 5 S7645 | ELEMENT A | 4 | |
| 7 89347 | BEARING | 3 | |
| 7 89404 | RING G | 3 | |
| 8\$7762 | RING | 1 | |
| 3Y0900 | FILTER A | 54 | |
| 3Y2879 | HOLDER A | 1 | |
| 3¥3796 | PFCUIATON | 1 | |

| PART NO. | PART NAME | QTY |
|----------|------------|-----|
| 3Y4333 | BRUSH KIT | 1 |
| 3Y4335 | SPRING KIT | 1 |
| 3¥4425 | CONTACT A | 1 |

| Item No. | Description | | Q'ty |
|----------|-------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------|
| 2 | (15) PIN (16) SILENCER (17) CLUTCHPLATE (18) " (19) LINKPIN (20) RADIATOR HOSE (21) " (22) SHAFT (23) BEARING | (2654403) (26560017) (0271173) (2646690) (89034) (893575 ML) (880271 M1) (188757 M91) (1645894 M1) (711429) (897702 M1) (893373 M91) (880070 M2) (180901 M91) (898228 M91) (887889 M94) (1865836 M91) (184553 M91) (184553 M91) (899144 M1) (898748 M1) (1660288 M91) (834218 M1) (180509 M1) (1810509 M1) (1860163 M1) (1860163 M1) (1860163 M1) (1860163 M1) | pcs: 14 |
| | (29) HEADLAMP (R) (30) " (L) (31) SWITCH (32) BUSH (33) DISC FRICTICH (34) DISC INTERMEDIATE (35) FVSE (36) TOP LINK (37) SPECIAL TOOL (C.V 40) | (1860177 M1) (1860178 M1) (35648) (886429 M1) (1860964 M2) (1860965 M2) (30 A) | 1 pc. 1 " 2 pcs. 5 " 10 " 1 pc. 1 " |



FOR TECHNICAL COOPERATION PROJECT ON PIG AND POULTRY DEVELOPMENT IN BURMA

MARCH 1979

JAPAN INTERNATIONAL COOPERATION AGENCY



- 5. Technical Cooperation Project on Pig and Poultry Development in BURMA (R/D April 12, 1977 --- April 11, 1981)
 - * 10th Mile Farm, Livestock Development and Marketing Corporation

Consignee: LIVESTOCK DEVELOPMENT AND MARKETING CORPORATION, INSEIN

RANGOON, BURMA

Case Mark: LDMC

JICA

RANGOON C/NO.

MADE IN JAPAN

Side Mark: TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN

Equipment Procurement Schedule for the Pig and Poultry Development Project in Burma (1978 Fiscal Year)

| SHIPMENT | CONVEYANCE | EMBARKED | DISEMBARKED | C.I.F. | . VALUE | B/L NO. | TOTAL | MAIN EQUIPMENT AND MATERIALS | REMARKS | PAGE |
|----------|----------------------------------|---------------------------|-------------------------------------|-----------------------------------------|----------------------|------------------------------|-------|----------------------------------------------------------------|--------------------|-------|
| NUMBER | BY SEA BY AIR | DATE | DATE | YEN | us\$ | | ITEM | | (ATTACHED INVOICE) | |
| 1 | BY SEA HAMPTON | 26 Sept., '78 Yokohama | 19 Oct., *78 Rangoon | *1,117,681 { 1,195,958 { - 78,277 | (Parts) | 20-001 | 1 | Station Wagon SUBAL 1600 | 1 | 3 |
| 2 | BY SEA MENAM | 30 Sept., '78 Yokohama | 23 Oct., 178 Rangoon | 7,742,268 | | YART- 0015 | 14 | Equipment for Pig and Poultry Production | 2 | 4~7 |
| 3 | BY AIR JL 717/29 TG 305/30 | 29 Nov., '78 Narita | 30 Nov., '78 Rangoon | 497,794 | | 217- 3754 | 1 | Breeding chick 1400 birds | 3 | 8 |
| 4 | BY AIR TG 601/1 TG 305/2 | 1 Dec., '78 Narita | 2 Dec., ¹ 78 Rangoon | 720,063 | | 217- 07003743 | 17 | Antigen, Vaccine | 4 | 9~10 |
| 5 | BY AIR JL 717/20 TG 305/21 | 20 Dec., '78 Narita | 21 Dec., 78 Rangoon | 704,885 | | 131-5376 6403 | 1 | Breeding Chick 1300 birds Spareparts for SUBAL | 5 | 11 |
| 6 | BY SEA MIIKE MARU | 25 Dec., '78 Yokohama | 10 Jan., ¹ 79 Rangoon | 38,219,250 | | 022- 61740 | | Incubator (6) others Spareparts for SUBAL | 6 | 12~26 |
| 7 | BY SEA MIIKE MARU | 28 Dec., '78 Kobe | 10 Jan., '79 Rangoon | 2,200,575 | | 022- 41771 | 2 | Tractor (1), Feed Grinder (1) | 7 | 27~29 |
| 8 | BY AIR JL 1477 (Chartered) | 22 Jan., '79 Narita | 22 Jan., 179 Rangoon | 21,422,819 | | 131 - 54640224 | 3 | Breeding Pig (Gilt 54, Boar 11) Swine Erysipelas Vaccine | Chartered Flight | 30 |
| 9 | BY AIR JL717 TC305 | 7 Mar., '79 | 8 Mar., '79 | *2,126.312 | {2,112,362 13,950 | 131- 54810431 | 44 | Medicine, Vaccine | 9 | 31~32 |
| 10 | BY SEA HAMPTON | 31 Mar., '79 Yokohama | 25 Apr., '79 Rangoon | 6,207,663 | | 20-056 | 44 | Equipment(22), Medicine (20) | 10 | 33~35 |

Grand total 80,959,310

Total 127

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to : LIVESTOCK DEVELOPMENT AND MARKITING CORTORATION, RANGOON, BURNA | No: | | |
|--------------------------------------------------------------------------------|----------------------------|--|--|
| | Date: Sep.29, 1978 | | |
| | Shipped per "HAMPTON MARU" | | |
| Shipping Mark: | from YOKOHAHA | | |
| L D N C | to Raigoon | | |
| JICA TECHNICAL COLEARORATION AID THE AGO YERMENT DE LADAR X | via | | |
| RANGOON SIDE HARK TECHNICAL COOFERATION C/No. 1 THE COVERSENT OF JAF | | | |
| MADE IN JAPAN | Export Licence No | | |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|--------|-------------------------------------------------------|-----------|---------------|-----------------------------------------------|
| C/X0.1 | Equipment for Technical Guidance of J 1 (Subaru 1600) | CA E | Constrain | l Value |
| | Suberu 1600 Inland Chargocean Proigh Ins.Prenium | | | ¥ 978,277 ¥ 58,102 ¥ 152,971 ¥ 6,608 |
| | Total: C I F Rangoo | on The | | ¥1,195,958,- |
| | JAPAN INTERNATIONAL COOPERATION AGENCY | | | |
| | SHINSAGU HI GUN PRESIDENT | | | |
| | | | E.8 | &.O.E |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigne | d to : <u>Livostock Development and</u> Karketing Componition | No : GP(S | 5)-8-18 (FR | (D-18-1234) |
|-------------|---------------------------------------------------------------|-----------|---------------------------------------|-----------------------------------------|
| | Rangoon, Burna. | Date: | Sept. 30, | 1978 |
| | | Shipped p | per "MEHA | An. |
| Shipping | Mark: | f | rom Yokoh | ana, Japan |
| | SIDE MARK | t | o Rango | on, Burma |
| • | JICA TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | V | /ia | |
| | RANGOON C/No. Al-Al4 | c | on Sopt. | 30, 1976 |
| | MADE IN JAPAN | Export L | icence No_ | ••••• |
| Nos. | Description of Goods | Quantity | Unit Price | Amount |
| | Equipment for JICA Burna Project | | ì | ercial Volue |
| 14 Packages | Total: | 1 lot | | ¥6,382,830 |
| | | Ocea | ping Charg a Freight rance Pros | * ¥302,863 * ¥1,014,956 * ¥41,619 |
| | | CIP | Rangoon | * ¥7,742,268 |
| | JAPAN INTERNATIONAL COOPERATION AGENCY | | | |
| | P.P SHINSAKU HOGEN PRESIDENT | | | |
| | | | E.8 | ∠0.E |

GP(S)-8-18 (FRWE-78-7234)

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|--------------------------------------------------------------------------------------------------------------------------------|----------|---------------|---------------------|
| • | | | Ex-Gode | wn Yokohama |
| 12 | Electric Brooder Fujihira Kodel FN-541-2 | 20 units | ¥85,810 | ¥1,716,200 |
| 13 | Feeding Pan for Babychick | 100 pcs. | ¥2,700 | ¥ 270,000 |
| 14 | Babychick Feeder | 200 pcs. | ¥1,975 | ¥ 395,000 |
| 15 | Hopper (Tube Feeder) Fujihira Nodel FN-500 | 250 sets | ¥3,866 | ¥ 966,500 |
| 21 | Egg Collecting cart Oowaki Model 12A | 5 units | ¥42,300 | ¥ 211,500 |
| 23 | Working Wear (Cotton) Size: S & M | 100 pcs. | ¥2,150 | ¥ 215,000 |
| 24 | Working Pants (Cotton) Size: S & M | 100 pcs. | ¥2,000 | ¥ 200,000 |
| 25 | Working Cap (Cotton) Size: S & M | 100 pcs. | ¥405 | ¥ 40,500 |
| 26 | Brooder Maruto type Battery (Ordinary Eattery 12 pcs & Battery with Heater 1 pc.) Gas Tank (Pro pane) & Standard accessories. | l set | | ¥ 393,300 |
| 27 | Cage for Grower Maruto type with Feeder, Waterer & Supporting Frame. | l set | | ¥ 213,800 |
| 28 | Cage for Egg Collector Maruto type with Feeder, Waterer & Supporting Frame. | l set | | ¥ 239,500 |
| 30 | Platform Scale Capacity 150 kgs | l unit | | ¥ 41,500 |
| 31 | Automatic Platform Scale Capacity 100 kgs | l unit | | ¥ 39,500 . ~ |
| 32 | Automatic Balance for Chicks Capacity 4 kgs | 2 units | ¥5,100 | ¥ 10,200.~ |
| 33 | Engine Power Sprayer Kyoritsu Kodel HP-45 with standard accessories & tools | l unit | | ¥ 120,00ò |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tolyo, Japan.

(2)

| P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan. | | | | | 2) |
|--------------------------------------------------------|--------------------------------------------------------------------------------------|----------|---------------|------------|-------------|
| Nos. | Description of Goods | Quantity | Unit Price | | Amount |
| 34 | Electric Power Sprayer National Model MS-3 with Transformer | 3 units | ¥44,500. | - ¥ | 133,500 |
| 116 | Feed Mixing Machine Oowaki type A-6 440V/50Hz Motor | 1 unit | | ¥ | 564,000 |
| 117 | Cross Conveyer 190mm dia, Length 4 m 440V/50Hz 2HP Notor | l unit | | Ā | 133,000 |
| 118 | Cross Conveyer 250mm width, Length 4 m 440V/50Hz Motor | 1 unit | | ¥ | 281,000 |
| 120 | Tool kit Banzai Model TB-10C | l set | | £ | 64,000 |
| 121 | Electric Carpenter's Tool Set Hitachi Model DS-A3 with Grinder and Transformer | l set | | ¥ | 50,000 |
| 122 | Saw for Metal | l piece | | ¥ | 1,580 |
| 123 | Electric Soldering Iron 200W, 220V/50Hz | l piece | | ¥ | 6,700 |
| 125 | Tool Box Banzai Model TB-60 | l piece | | ¥ | 1,340,- |
| 126 | Solder 1) 60% stick 1 kg 2) 50% stick 1 kg 3) String 1 kg | l set | | ¥ | 8,600 |
| 127 | Drill Bit (3mm, 5mm, 7mm & 9mm each 5 pcs.) | 1 set | | £ | 9,900 |
| 128 | Grindstone Compounded (Rough & Medium each 1 pce.) | l set | | ¥ | 2,440 |
| 129 | Spare Saw Blade | 2 dozen | ₃ ¥900. | - ¥ | 1,800 |
| 130 | Bolt Clipper Length 350mm | l piece | | ¥ | 3,820 |
| 131 | Cylinder Lock 40mm | l piece | | ′ ¥ | 650 |
| | l | 1 1 | | | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(3)

| Nos. | Description of Goods | Quantity | Unit Price | A | mount |
|------|---------------------------------------------------------------------------------|----------|-----------------------|--------|------------------------|
| 132 | Slide Regulator Transformer Model SD 225 (5A) & SD 2210 (10A) each 1 unit | l set | | ¥ | 42,000 |
| 133 | Helmet for Workman | 5 pcs | ¥1,200. | ¥ | 6,000 |
| **** | ************************************** | ******* | *** *** ** | ****** | **** ****** |
| | | | | | |
| | | | | | |
| | | | | | |
| | | } | | [| |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | , | ! | |
| | } | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| | | | | | |
| • | | | : | | |
| | | | | | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| | ivestock Developme | ent and Marketing | No: | |
|----------------|-----------------------------------|---------------------------------------------------------------------|-------------|-----------------|
| | orporation, usein, Rangoon. Bu | irma. | Date: Nov. | ,24,1978 |
| | | | Shipped per | Air Craft |
| Shipping Mark: | | | fron | , Tokyo, Japan. |
| LDN | ic | | to | Rangoon, Burma. |
| 110 | 3 - 1 - 1 1 1 1 1 | SIDE MARK | via | Direct |
| RAN | IGOON TEC | OVERMMENT OF JAPAN CHNICAL COOPERATION ME GOVERNMENT OF JAPAN | οπ | |
| C/No. B | 3-1-17 | | | |
| MADE | IN JAPAN | | Export Lice | nce No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|---------------------------|------------------------------------------------------|---------------|------------------------------|
| | | | F.O.J | B. Jepan |
| | Chicken | 1,400 head | ! | ¥380,000 |
| | | F.O.B.Exper | nsive : | 13,684 |
| | Seventeen(17) cases | renteen(17) cases F.O.B. Japa Air Freight Insurance | | ¥393,684 102,110 2,000 |
| | ** No commercial value ** | C.I.F.Range | on: | ¥497,794 |
| | | | | |
| | | | | |
| | | | | |
| | | | | |
| | | | | |
| | | | 1 | |
| | | | | |
| | 1 | l , | E.&. | .O.E |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to: Livestock Development and Marketing Corporation. Insein, Rangoon, | No: | | |
|---------------------------------------------------------------------------------|-----------------------|--|--|
| Burma. | Date: Nov.,24,1978 | | |
| | Shipped per Air Craft | | |
| Shipping Mark: | from Tokyo, Japan. | | |
| L D M C | to Rangoon, Burma. | | |
| JICA SIDE MARK TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | via Direct. | | |
| RANGOON | on | | |
| C/No. B-1-9 MADE IN JAPAN | Export Licence No | | |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|----------------------------------|-------------------------------------------|---------------|------------------------------|
| | | | | F.O.B. JAPAN |
| | MARIVAX THV., and etc. | 62pcs. | | ¥447,300 |
| | -details as per attached sheets- | F.O.B.Exper | sive : | 12,090.~ |
| | Nine(9)Carton. | F.O.B. Japa Air Freight Insurance : | | ¥459,390 258,330 2,343 |
| | | C.I.F.Rango | on.: | ¥720,063 |
| | | | | |
| | | | | } |
| | | | | |
| | | | | |
| | 1 | 1 | E. 8 | [&.O.E |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------------------------------------------|-----------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------|
| | Imrivax THV Infectious coryza vaccine Iycoplasma-Gallisepticum Mycoplasma Synoviae Antigen Fowl Pox vaccine 500 dose lvial N.FUENO 20kg/bag A-Feed (Vitamin AD) 20kgs/bag B-Feed (Vitamin B) 20kgs/bag Miner (Hineral) 25kgs/bag Choline-Chloride 20kgs/bag DL-Hethionine 20kgs/bag L-Lysine 25kgs/bag Zorin-25 20kgs/bag Sulfadimethoxine 10kgs/bag Tylocin 100g/box NEO-Kurehazol EG-Kleen | 3 Pos 10 " 10 " 10 " 1 " 1 " 1 " 1 " 2 " 5 " 2 " | 15,500 10,500. 6,000. 6,000. 700. | #24,000 37,500 40,000 60,000 6,300 16,500 7,000 8,000 9,000 32,000 32,000 31,000 19,500 18,000 |
| Total | Nine(9) cartons | 62 pcs | Packing fee | ¥420,800 26,500 |
| | | | | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to : Livestock De | evelopment and Markering. | No : |
|-----------------------------------------|----------------------------|-----------------------|
| Corporation, | Insein, Rangoon. | |
| ************ | | Date: Dec.,14,1978 |
| | · | |
| *************************************** | | Shipped per Air Craft |
| Shipping Mark: | | |
| Suibbing mark. | | from Tokyo, Japan. |
| 7 D V C | | |
| LDMC | | to Rangoon, Burma. |
| 717 | SIDE MARK | |
| JIC A | TECHNICAL COOPERATION | via Direct |
| | BY THE GOVERNMENT OF JAPAN | |
| RANGOON | | on |
| C/No. B-1-17 | | ************ |
| MADE IN JAPAN | | - |
| 3.5.3.5 — 3.1. 4.3.4 7.5.1 | | Export Licence No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|----------------------|----------------------------|---------------|---------------------|
| | | | _F.O.B | . Japan |
| | Chicken | 1,300 head | | ¥590,000 |
| | | F.O.B.Expen | sive : | 10,484 |
| | No commercial value | F.O.B .Japa Air Freight | | ¥600,484 102,110 |
| | (17) cases | Insurance : | | 2,291 |
|] | | C.I.F.Rango | on : | ¥704,885 |
| Ì | | | | |
| } | | | | |
| | | { | | |
| } | | | | |
| ļ | | | | |
| | | 1 1 | | |
| | | | | • |
| - | | • | E.& | .O.E |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to: Livestock Marketing (| evelopment and Corporation | No: <u>GP(S)-</u> | 9-18 (FRWZ-78-7234-1) |
|---------------------------------------|--------------------------------------------------|-------------------|---------------------------------------|
| Rangoon, Br | rma | Date: Dec | 25, 1978 |
| • | | Shipped per | "MIKE HARU" |
| Shipping Mark: | | from | Yokohama, Japan |
| JIC A | SIDE MARK | to | Rangoon, Euran |
| 310 A | TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | via | · · · · · · · · · · · · · · · · · · · |
| rangoon C/no. ** | | on | Dec. 25, 1978 |
| MADE IN JAPAN | | Export Licen | ce No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|--------------------------|---------------------------------|----------|-----------------------------------|------------------------------------|
| ** | | | No Comm | rcial Value |
| Al Al5-A23 A28-A53 | Equipment for JICA Burm Project | | Fx-Godo | m Yokohama |
| A100-A112 | Total: | 1 lot | | ¥34,527,847 |
| 49 Cases | | 0cean | ng Charge Freight nce Pres. | ¥790,438 ¥2,695,532 ¥205,433 |
| | | CIF Re | _ | ¥38,219,250 |
| | | | | |
| | | | | |
| | | | | |
| | | | | |
| | , | | | |
| | \$ \$ | | | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1·); ·

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|---------------------|----------------------------------------------------------------------------------------------------------------------------------|----------|------------------|-----------------------|
| • | CHICKEN SECTOR | | Ex-Gode | n Yokohana |
| 1 **. ,s≰ | Incubator (1) Setter AS-10 220V/50Hz | 4 units | ¥1,481,90 | p ¥5,927,600 |
| | (2) Hatcher Ali-7 220V/50:12 | 2 units | ¥1,287,50 |) ¥2,575,688 |
| 2 | Egg Cooler Big Dutchnan Hodel EH-18000 220V/50Hz | 2 units | ¥767 , 50 | D ¥1,535,000 |
| 3 | Pressure Fan Model IF-18D, 45cm Fan With hood. 220V/50Mz | 4 units | ¥72 , 15 | u. - Y288,600 |
| 4 | Transformer Nodel 3203 O - 220V/50Hz | l unit | | Y33,42 |
| 5 `** . | Pressure Fan Model PF-123, 30cm Fan 220V/50Hz | 1 unit | | ¥74,460 |
| 6 | Diesel Engine-Driven AC Generator DENYO Hodel DCA 125 SMT 220V, 50Mz, 100KVA Transfer Panel with Battery Charger and spare parts | l unit | | ¥5,972,93C. |
| 7 | Candling Lamp FN605, 220V | 2 pcs. | ¥6,50 |) ¥13,000 |
| å . | Hatching-Tray Rack | 3 units | ¥57,90 | D Y173,700a |
| , 9 , | Egg Collecting Basket 606 x 306 x 255mm | 100 pcs. | ¥1,90 |) Y190,000 |
| 10, | Egg Tray 296 x 296 x 51mm | 500 pcs. | ¥7 |) ¥35,000 |
| 11,317 | Glass Wool 50 x 915mm x 11m | 20 pcs. | ¥11,00 |) ¥220,000 |
| 16 | Water Trough Stainless Steel 1800 x 105 x 100mm | 200 pcs. | Y5,51 | 6 ¥1,103,200 |
| 17 | Debenker Include Transformer FX-91 220V/50Hz | 2 units | ¥45 , 00 | 9. - ¥99,0201- |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(2),

| Nos. | Description of Goods | Quantity | Unit Price | Amount ' |
|------|-------------------------------------------------------------------------------|------------------------------|----------------------------|--------------|
| 19 | Monocycle | 5 units | ¥13,000 | - ¥65,000 |
| 20 | Handy Air Pump | 2 pcs | ¥2,000 | - ¥4,000 |
| 35 | Microscope binocular OLILPAS BHC-112 | l unit | | ¥260,000.~ |
| 36 | Hot Air Oven FV57-3 60 x 50 x 50cm 220V/50.lz | l unit | | ¥138,000 |
| 37 | Freezer Refrigurator HITACHI R-280TB, 220V/50Hz with Transformer | 1 unit | | ¥161,090 |
| 39 | Electric Centrifuge TCEY CD-705R | l unit | | ¥374,000 |
| 41 | Water Distilling Apparatus Hodel GS-100T 220V/50Nz | 1 unit | | ¥1,053,200.~ |
| 42 | Autoclave SD-30M 560 x 446 x 1025mm 220V/50Hz | l unit | | ¥351,000.~ |
| 43 | Microtiter Set 'COOK' system kit | l set | | ¥155,000 |
| 44 | Attachment for Microtiter Set (1) U plate (2) Test paper (3) Cartridge filter | 14 pcs 100 pcs 600 pcs | ¥4,180.~ ¥46.~ ¥19.~ | ¥4,600 |
| 45. | Instrument Sterilizer EL-1152 | 1 unit | | ¥44,100 |
| 48 | Test Tube Rack, SS 18mm (15 x 4) | 10 pcs | /¥2,200 - | ¥22,000 |
| 49 | Automatic Fipette Washer AB-1 | 1 set | | ¥13,000.~ |
| 50 | Sulfuric Acid Bath for Pipette D-1 | l piece | 7 | ¥13,000 |
| 51 | Pipette Washing Basket B-1 | 2 pcs | ¥4,700 - | 12,4CO |
| 52 | Test Tube Basket 20 x 20 x 20cm | 5 pcs | ¥2,000.4 | 710,000 |

JAPAN INTERNATIONAL COOPERATION AGENCY

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(3)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|------------------------------------------------------------------------|----------------------------------|--------------------|------------|
| 53 | Sulfuric Acid Jar VB-1 | l piece | | ¥22,500 |
| 54 | Washing Basket for Item No.53 VB-2 | 2 pcs | ¥9,900. | · |
| 55 | Washing Wire Net Basket 50 x 35 x 15cm | 5 pcs | ¥8,200. | - ¥41,000 |
| 56 | Plutinum Reedle 0.5mm x 10cm | 5 pcs | ¥3,800 | - ¥19,000 |
| 57 | Hand Tally Counter FM-365 | 2 pcs | ¥1,150. | - ¥2,300 |
| 58 | Hedicines Cabinet FF-300 Hodel:120 | 2 units | Y111,500. | - ¥223,000 |
| 60 | Bottle with Stopper Polyethylen for 200 | 2 pcs | ¥4,200. | - ¥8,400 |
| 61 | Wide Houth Bottle Polycthylen for 20 " for 50 | 3 pcs 3 pcs | ¥495. ¥855. | |
| 62 | Beaker with Handle Polycthylen for l | 5 pcs | ¥190. | - ¥950 |
| 63 | Test Tube 12mm x 105mm | 1,000 pcs | ¥20. | 000,000 |
| 64 | Rubber Stopper Silicon 10 x 4mm | 1,000 pcs | ¥32. | - ¥32,000 |
| 65 | Rapid Agglutination Class Plate FM-436 | 20 pcs | ¥1,700 | - ¥34,0:C |
| 66 | Blood Taking Loop FM-438 | 5 pcs | ¥450. | - ¥2,250 |
| 67 | Punch for Gelatin Sediment FM-368 | 2 pcs | ¥6,300. | - ¥12,600 |
| 68 | Detector for Gelatin Sediment | l piece | | ¥31,500 |
| 69 | Rubber Apron | 10 pcs | ¥2,450. | - ¥21,500 |
| 70 | Syringe (1) Veterinary Syringe 2m((2) " " 10m((3) Syringe for TB lm(| 30 dozens 1 donen 2 dozens | ¥2,580. ¥3,780. | ¥3,840 |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(4)

| P.O. Box 2 | 16, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan. | | | (4) |
|------------|--------------------------------------------------------------------|-----------|---------------|-------------|
| Nos. | Description of Goods | Quantity | Unit Price | Amount |
| 71 | Needle 1/1 | 60 dozens | ¥315. | - Y18,900 |
| 72 | Pistor-1 Auto Syringe | 10 pcs | ¥8,100. | - ¥81,000.~ |
| 73 | Needle for Pistor-1 FJ-150 | 5 dozens | ¥300. | - ¥1,500 |
| 74 | Butcher's Knife FQ-15 | 10 pcs | ¥2,700. | - 427,000 |
| 75 | Bone Scissors for Chicken FC-730 | 5 pcs | ¥4,600 | - 123,000,- |
| 76 | Surgical Scissors SS Both points Sharp & Blunt (FC-21-2) (FC-20-2) | 5 sets | ¥2,600. | - Y13,CCO |
| 77 | Eye Scissors SS Straight FC-17 | 5 pcs | ¥1,300. | ~ ¥6,500 |
| 78 | Thumb Forceps 15cm SS FC-82 | 10 pcs | ¥750. | - ¥7,500 |
| 79 | Balance Cap 200g, FV-316 | l unit | | ¥6,200 |
| 80 | Auto Balance Cap 2krs | l unit | | ¥4,750 |
| 81 | Magnifier Carton No.301 100mm | 2 pcs | ¥2,650. | ¥5,300 |
| 82 | Centrifugal Vial 10m@ 16 x 105mm | 64 pcs | ¥135. | - Y3,640 |
| 83 | Beaker 100m | 50 pcs | ¥190 | - ¥9,500 |
| 84 | Beaker 200m | 10 pcs | ¥215 | - Y2,150 |
| 85 | Beaker 500m∮ | 10 pcs | ¥390. | - 23,900 |
| 86 | Test Tube 180mm x 18 p | 50 pcs | ¥43 | - Y2,150 |
| 87 | Conical Flask 100m§ | 50 pcs | ¥362. | - ¥18,100 |
| 88 | Conical Flask 300m) | 50 pcs | ¥390. | - ¥19,500 |
| 89 | Conical Flask 500m≬ | 20 pcs | Y525 | · ¥10,500 |

JAPAN INTERNATIONAL COOPERATION AGENCY

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(5)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|------------------------------------------|------------|----------------|----------|
| 90 | Conicul Flask 1000m | 20 pcs | ¥985. | ¥19,700 |
| 91 | Petri Dish Dia 90mm | 200 pcs | ¥565 . | ¥113,000 |
| 92 | Reagent Bottle Wide Mouth, 250m) | 30 pcs | ¥485. | ¥14,550 |
| 93 | Funnels Dia 90mm | 10 pcs | ¥300. | ¥3,000 |
| 94 | Slide Glass | 1,000 pcs | ¥7. <u>\$0</u> | ¥7,800 |
| 95 | Cover Glass | 1,000 pcs | ¥6. <u>\$0</u> | ¥6,900 |
| 96 | Measuring Pipets 0.2m≬ | 10 pcs | ¥790. | ¥7,900 |
| 97 | Measuring Fipets 0.3m) | 10 pcs | ¥790. | ¥7,900 |
| 98 | Measuring Pipets 1.0m) | 50 pcs | ¥780. | ¥39,000 |
| 99 | Measuring Fipets 2.0m | 30 pcs | ¥285 . | ¥8,550 |
| 100 | Measuring Pipets 10.0m) | 5 pcs | ¥460. | ¥2,3C0 |
| 101 | Measuring Pipets 10.0ml (L) | 5 pcs | ¥475• | ¥2,375 |
| 102 | Hole Pipets 50m≬ | 5 pcs | ب995٠ | ¥4,975 |
| 103 | Measuring Cylinders 10m) | 10 pcs | ¥865. | ¥8,650 |
| 104 | Measuring Cylinders 20m4 | 5 pcs | Y1,025. | - ¥5,125 |
| 105 | Measuring Cylinders 50m) | 5 pcs | ¥1,400. | ¥7,000.~ |
| 106 | Measuring Cylinders 100m | 5 pcs | ¥1,620. | ¥8,100 |
| 107 | Measuring Cylinders 500ml | 3 рсэ | ¥3,780. | ¥11,340 |
| 108 | Aluminum Caps for Test Tube 14 x 30mm | 500 pcs | ¥50. | ¥25,000 |
| 109 | Alcohol Lamp 100m§ | 10 pcs | ¥490. | ¥4,900 |
| 110 | Aluminum Foil 30cm x 25m | 10 pcs | ¥180. | Y1,800 |
| 111 | Filter Paper 15cm | 500 sheets | ¥4. <u>ko</u> | ¥2,150 |
| 112 | Support Drain Board 40 x 60 x 100cm | l piece | | ¥21,500 |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(6)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------|---------------|-----------------------------------|
| 113 | Stainless Steel Vessels 204 | 2 pcs | ¥21,500. | . ¥43,000 |
| 114 | Stainless Steel Vessels 50 | l piece | | ¥43,200 |
| 115 | Balancer 1000D | 1 set | | ¥15,800 |
| 134 | Typewriter OLIVETTI LINEA 98 pica 33cm | 1 unit | | ¥110,000 |
| 136 | Electronic Calculator Model CASIO J-3 AC Adaptor (220V) | 4 pcs | ¥14,010 | ¥56,040 |
| 137 | MITA Copystar 900D Desk-Top type Zinc-Oxide Sensitive paper BA roll 40 pcs A4 roll 40 pcs 220V/50Hz | 1 unit | - | ¥607,600 |
| 138 | Gestetner (1) 420% (2) ES 1100 Transformer ATN-30 2 units Ink No.217 100 pes Cleaner 3 cans Printing paper No.100% 20 packs Correction Fluid 3 cases Layout paper sheet 3 sheets | l unit | | ¥1,387,8°° |
| 143 | Prefab Walk-In Coolers/Freezers Lodel SAWYO 1218 3600 x 5400 x 2400mm Unit PCV-1500R 4 units Tranformer 1 unit 440V 50Hz Standard Accessories and tools. | l set | | ¥2,159,000 |
| ***** | ************************************** | ***** | *** | ** **¥♥◀╅~ ०⋞∢ > |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(7)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|---------------------------------------------------------------|----------|---------------|-------------|
| , | PIG SECTOR | | | |
| 1 | Feeder Model F1-B | 102 pcs | ¥16,060. | Y1,638,120. |
| 4 | Waterer for Pig (Water Bowls) FW-343 | 102 pcs | ¥3,600 | Y367,200. |
| 5 | Water Cup for Pig ANUMUKA FN-342 | 244 pcs | ¥5,377. | ¥1,311,985. |
| 6 | Tattooing Forceps FK-300 | 3 sets | ¥36,500 | ¥109,500. |
| 7 | Ear Notcher Nodel V, FN-322 | 3 pcs | ¥4,500. | ¥13,500 |
| 8 | Tooth Nipper | 3 pcs | ¥1,100. | ¥3,300. |
| 9 | Lone Star Ear Tag FR-292-1 | l set | | ¥7,950 |
| 10 | Applicator for FN-292-1 FN-293 | l piece | | ¥2,000 |
| 11 | Infraced Electric Bulb for 220V, 1254 | 100 pcs | Y1,400. | 4170,000 |
| 12 | Cord for Infrared Electric Bulb 1.25 x 20 | 200 m | ¥110 | ¥22,000 |
| 13 | Socket for Infrared Electric Bulb | 100 pcs | ¥130 | ¥13,000 |
| 14 | Plug for Infrared Electric Bulb | 100 pcs | ¥70. | ¥7,000 |
| 15 | Animal Gage for Pig FK-15 | l piece | | ¥31,700 |
| 16 | Hag Holder | 10 pcs | Y6,000 | ¥60,000 |
| 18 | Scalpel Hamile FC-31 | 4 pcs | ¥540 | ¥2,160 |
| 19 | Blade FC-33 pointed 10 blades a pack | 5 sets | ¥360 | ¥1,500 |
| 20 | Blade FC-32 rounded 10 bladed a pack | 5 sets | ¥360 | Y1,800 |
| 21 | Suture Needle FC-300 full-curved large 10 needle a pack | 1 set | | ¥720 |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(8)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|------------------------------------------------------------------------|-----------|---------------|--------------------|
| 22 | Suture Needle FC-301 Medium | l set | | ¥723, |
| 23 | Suture Needle FC-302 Curred, large 10 needle a pack | l set | | ¥720. |
| 24 | Suture Needle FC-303 Kidium | l set | | ¥720 . |
| 25 | Sutures No.7 FC-346 10 sutures a pack | 50 sets | ¥900. | Y45,000. |
| 26 | Sutures No.9 FC-348 10 sutures a pack | 50 sets | ¥900. | Y45,000. |
| 27 | pean's Forceps FC-120 | 10 pcs | ¥1,900. | ¥19,000. |
| 28 | Needle Holder FC-201 | 2 pcs | ¥3,960. | ¥7,9?C. |
| 29 | Surgical Sussors Both points Sharp (FC-51) Both points Slunt (FC-50) | 2 pcs | ¥2,250. | ¥4,500. |
| 30 | Aluminum Pail 130 | 150 pcs | ¥2,800. | ¥420,000. |
| 31 | Vinyl Hose 15 x 20mm | 400 m | ¥90. | ¥36,000 |
| 32 | Shovel | 9 pcs | ¥1,950. | ¥2 7, 550. |
| 33 | Monocycle | 17 units | ¥13,000. | ¥221,000. |
| 34 | Handy Air Pump | l piece | | ¥2,000. |
| 35 | Tape Measure FK-35 Cloth 2m long | 1 piece | | ¥190. |
| 36 | Livestock Scale for Pig Cap 400kgs FK-32-1 | l unit | | ¥ 315, 000, |
| 37 | Livestock Scale for Pig Cap 150kgs FK-32-8 | l unit | | ¥230,000 |
| 38 | Livestock Scale for Small Pig Cap 50kgs FK-32-3 | . 2 units | Y205,000. | ¥410,011 |
| 39 | Automatic Balance Cap 10kgs Wodel AB | 10 units | ¥9,000. | ¥80,000- |
| 40 | Kobil type Power Sprayer Cap 1100 FL-123 | lunit | } | ¥213,000+ |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(9)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|------|------------------------------------------------------|------------------|----------------|-----------------|
| 41 | Handcart 910 x 760mm | 2 units | Y25,000. | - 1756,000,- |
| 42 | Vetterinary Syringe (1) 10ml by 55-2 (2) 50ml FJ 58 | 20 pcs 10 pcs | ¥320. ¥310. | |
| 43 | Needle FJ 127 1.2mm Dia 40mm long | 5 sets | ¥565. | - ¥2,825 |
| 44 | Needle FJ 126 1.4mm Dia 40mm long | 5 sets | ¥505. | - ¥2,925 |
| 45 | Clinical Thermometer F125 | 10 pcs | ¥260. | - Y2,800 |
| 46 | Irrigator Hetal Fl 102 2m | l pce | | ¥6,700 |
| 47 | Mouth Gag for Pig FD7 | l pce | | ¥1,620 |
| 48 | Dosing Catheter FI22 | 3 pcs | ¥1,500. | - ¥4,500,- |
| 49 | Irrigator FI34 Siphon pattern | l pce | | ¥3,150 |
| 50 | Dissecting instrument Set Nodel Lo.1 FC600 | l set | | ¥80,000.~ |
| 51 | Hoot Scraper FN208 Straight | l pce | | ¥1,200 |
| 52 | Hoot Rasp FN720 | l pce | { | ¥1,ZA0,- |
| 53 | Hoot Hammer FN730, wooden | l pce | | ~900 . - |
| 54 | Rapid Agglutination Plate 74436 | l pce | | ¥1,700.~ |
| 55 | Pipett Foragglutination Testing 0.2m FM439 | 10 pcs | ¥270. | - ¥2,700 |
| 56 | Pipett Foragglutination Testing 0.3ml FM440 | 2 pcs | ¥270. | ~ 7540.~ |
| 57 | NIWA's Dummy for Boar FA-1400 | 1 unit | | ¥150,000 |
| 58 | Instrument Sterilizer Electricheat 50 x 18cm FL-1 | 1 unit | | ¥44,500.~ |
| 59 | NISHIKAWA's Spermotherm FA-220 | 1 unit | | ¥24,30J |
| 60 | Semon Bottle Bath with Semen Bottle 500m FA-1415 | 5 pcs | Y12,500 | - Y62,500 |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(10)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------------|-----------------------------------------------|----------|-----------------|---------------------|
| 61 | NICHIKAWA's Semen Examination Plate FA-225 | 5 pas | ¥3,600 | ¥18,000 |
| 62 | Semen Insominator NIWA's FA-1454 | 10 sets | ¥5,150. | ¥51,500 |
| 63 | Incubater Model M-B O - 50°C | 1 unit | | ¥440,000 |
| 65 | Microscope Monocular OLYMPUS CHC-012 | 1 unit | | ¥83,500 |
| 66 | Hand Tally Counter FM-365 | l pce | 1 | ¥1,150 |
| 67 | Plutinum Reedle FM-150 | 5 pcs | ¥215 | ¥1,075 |
| 68 | Balance Cap 200g FV-316 | l unit | | ¥6,200 |
| 70 | Distilled Water Bottle 20) | l pce | | ¥4,200 |
| 71 | Semen Collecting Bottle for Boar 500mg | 20 pcs | ¥810. | ¥16,200 |
| 72 | Conical Flask 1000m≬ | 3 pcs | ¥1,000. | y 3, 000 |
| 73 | Bottle Washing Brush 5cm | 10 pcs | ¥135. | ¥1,3 ₀ 0 |
| 74 | Gauge 10m a roll | 10 pcs | ¥450 . - | 14,500 |
| 75 - | Sanitary Cotton 500g | 10 pcs | ¥450. | ¥4,500 |
| 76 | Cleanser | 5 pcs | ¥70 | ¥350 . - |
| 77 | Liguid Detergent 180 | 1 can | | ¥4,300 |
| 78 | Thermometcr Alcohol 100°C | 3 pcs | ¥250. | ¥750 . - |
| 79 | Salt 500g | l pce | ļ | ¥90 |
| 80 | BTB Test Paper with Table | 1 set | | ¥650 |
| 81 | Holes Slide Glass | 1 box | | 74,680 |
| 82 | Coner Glass 18 x 18mm | l box | | Y330 |
| 83 | Glucose 500g | 1 pce | | 71,450 |
| 84 | Semen Collecting Beaker 300m@ Ph-1410 | 2 pcs | ¥1,350. | 72 , 700 |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(11)

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------|-------------------------------------------------|------------|---------------|---------------------------------|
| 85 | Semen Collecting Beaker 500n(FA-1411 | 2 pcs | ¥1,100. | Y2,200 |
| 86 | Electric Fencer AC 7 FK-365 with Transformer | 2 units | ¥23,300. | ¥.;6,600 |
| 87 | Pole for Electric Fencer 150cm | 500 pcs | ¥950. | ¥475,000 |
| 88 | Wire Not 832-6 | 5 rolls | ¥19,000. | - 795,000 |
| 89 | Iron Wire No.12 50kg | 4 rolls | ¥9,500. | Y58,000 |
| 90 | Iron Wire No.14 50kg | 4 rolls | ¥9,500. | - ¥38,000 |
| 91 | Binding Wire 300m | 2 rolls | ¥3,300. | ¥6,600. - |
| 92 | Wire Stretcher | 2 pcs | ¥9,500. | - ¥19,000 |
| 93 | Insulator | 1,500 pcs | ¥120. | - ¥180,033 |
| 94 | Bolt Nut 1/4, 75mm | 1,500 sets | ¥15. | Y22,500 |
| 95 | Hook for Wire Net 1/4, 38mm with Rut | 350 pcs | ¥30. | Y10,500 |
| ****X | ************************************** | ******* | ****** | ₹ ≻ ₽¥¥₹ ₹ ₹₩ |
| | | | | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(12)

| F.O. DOX 210 | | (12) | | |
|--------------------------|-----------------------------------------|--------------|---------------|------------------|
| Nos. | Description of Goods | Quantity | Unit Price | Amount |
| (Fart No) | | | | |
| (| SPARE FARTS FOR SUBARU | | 1 | |
| | AUTO, TOBILE | | } | |
| 820549500 | Spark Plug Compl | 7 700 | Voc | *** |
| 891014101 | Rotor (Distributor) | 7 pcs 2 " | Y86 Y118 | ¥602 |
| 891464111 | Contact Set Compl | 2 " | ¥183 | ¥23ć |
| 880874110 | Oil Filter Compl | 4 " | ¥347 | ¥1,306 ¥1,308 |
| 625031090 | Pad (Disk Prake, F) | 4 " | ¥380 | ¥1,520 |
| 320725100 | Cord Compl 2 (Spark Plug) | 2 " | ¥267 | ¥534 |
| 320745100 | Cord Compl 4 (Spark Flug) | 2 " | ¥267 | 1531 |
| 320735100 | Cord Compl 3 (Spark Flug) | 4 " | ¥246 | Y987 |
| 891004111 | Cap Compl | l pce | 1 | ¥350 |
| 821454110 | Element (Air Cleaner) | 7 pcs | ¥435 | ¥3,0.15 |
| 809110050 | "V" Belt (10.5x8x940) | 2 " | ¥267 | 1534 |
| 330124300 | Disk Compl (Clutch) | 2 " | Y1,835 | ¥3,67C |
| 637120162 | Clutch Cable Ass'y | 2 " | ¥811 | Y1,622 |
| 637110172 | Accelerator Cable AY | 2 " | ¥267 | 5534 |
| 382508102 | Engine Casket & Scal Kit | 1 pce | | Y2,210 |
| 000016213 | Coolant (18) | 1 " | 1 | ₹6,430.~ |
| 621052151 | Strut Compl (Damper) | 1 " | | ¥4,089 |
| 621008100 | Coil Spring | 1 " | 1 | ¥1,607 |
| 621016010 | Helper | 1 " | | ¥190 |
| 621026050 | Cil Seal (Strut Mount) | S bea | Y65 | Y130 |
| 621042121 | Stabilizer Compl | l pce | 1 | ¥2,600.→ |
| 621011333 | Eushing (Stabilizer) | 1 pce | i | ¥137 |
| 621003621 | Shock Absorber Ass'y | l pce | 1 1 | ¥1,375 |
| 625301111 | Brake Shoe (R) | 4 pcs | ¥359 <u>'</u> | ¥1,456 |
| 625200372 627003132 | Wheel Cylinder Ass'y (R) | l pce | | ¥1,004 |
| 627200090 | Brake Hose (F) Laster Cylinder Assly | 2 pcs | Y441 | ¥652.~ |
| 623006020 | Wheel Kut | l pce | 1 ,,,,, | ¥4.636 |
| 631142002 | Universal Joint Ass'y | 4 pcs | ¥90 | £360 |
| 682151150 | Thermo Switch | l pce l " | | Y1,992.+ |
| 645077701 | Hose (Nadiator Inlet) | 1 " | , , | ¥860 |
| 645077731 | Hose (Radiator Inlet) | 1 " | | ¥347 |
| 080225300 | Fuse (25A) | 4 pcs | ¥8 | ¥306 732 |
| 080215300 | Fuse (15A) | 4 " | ¥8 | ¥32 |
| 686502262 | Speedometer Cable | 1 pce | 13, | ¥430 |
| 684147200 | Sealed Beam unit | 1 " | | 7479 |
| 686111440 | Wiper Motor Assty | ı î " | | ¥2,610 |
| ļ | Service Hanual | 3 pcs | ¥2,940 | ¥8,820 |
| | Farts Catalog | | ¥2,940 | ¥8,820 |
| | Price List | 3 " | ¥3,150 | 19,450 |
| j | Driver's Handbook | 3 " | Y210 | ¥63C |
| | Total: | 00 | | |
| | 10/91; | 92 pcs. | | ¥78,277 |
| | | | | |
| • | | • | . , | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Nos. | Descri | ption of Goods | Quantity | |
|---------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------|---|
| <u></u> | - 3 | attached sheet - | | |
| Chicken Sector 6 | DIESEL ENGINE-1 DENYO MODEL DO | DRIVEN AC GENERATOR CA 125 SHT | | |
| | Spare Parts: | | | |
| | Part No | Part Name | | 1 |
| | 30094-91102 ME060219 30036-63301 30036-63701 30039-22021 30039-21101 03060-10701 ME021073 31145-00900 30046-29603 30046-29603 30046-19200 30048-01002 46603-18901 090243-0030 03080-42381 ME910540 30061-70401 092130-0050 ME040200 MI020996 ME040200 ME040200 MI020996 ME040200 ME040000 ME040000 ME040000 ME040000 ME040000 ME040000 ME040000 | Gasket Element Air Cleaner Hose, Rubber Hose, Rubber Cooler Hose Ass'y Hose, A. Cooler Clip Hose Element Oil Filter Seal Unit Thermostat Hose Rubber BY-Pass Clip Hose V-Belt Set Elbow, Rubber Hose, Rubber Hose, Rubber Hose, Rubber Hose, Fuel Feed Hose, Fuel Feed Fuel Feed Pump Priming Pump Complete Hozzle Ass'y Nozzle Tip Ass'y Gasket, Hozzle Tip Washer, Hipple Element, Fuel Filter Washer, Ripple Gasket Air or Drain Gasket Brush Starter Relay Starter Brush, Generator Regulator Flug, Glow Inpicatop, Glow Plug Thermometer Ammeter Gage Oil Pressure | l pce 2 pcs 1 pce 1 " | |
| | 06018 200 02 06018 200 92 06018 410 19 | Rectifrer (DulONE-H) Rectifrer (21R2SC) Resistor (375M4 ohm) | l pce 2 pcs 1 pce | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Nos. | Description of Goods | Quantity |
|------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------------------------------------|
| | 06018 004 30 Frequency Leter 06018 002 36 Voltneter (FCK-80) 06018 000 82 Ammeter (PCK-80) 06018 100 00 Pilot Lamp (B-4) 08018 203 04 Out Put Terminal 08018 203 04 Cut Fut Terminal (16\$) | 1 pcc 1 " 1 " 2 pcs 4 " 4 " |
| | ********************* | ************************************** |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to: Livestock 2 | | No: GP(5)-8-18 (FRWE-78-7234-2) |
|-----------------------------------|--------------------------------------------------|---------------------------------|
| Rangoon, Bu | rma | Date: Dec. 28, 1978 |
| | | Shipped per "MIIKE MARU" |
| Shipping Mark: | | from Aobe, Japan |
| LDMC | SIDE MARK | to Hangoon, Burma |
| JIC A | TECHNICAL COOPERATION BY THE GOVERNMENT OF JAPAN | via |
| HANGOON | | on Dec. 28, 1978 |
| C/No. A24-A27 MADE IN JAPAN | | Export Licence No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------|----------------------------------|------------------------------------|-------------------------------|--------------------------------|
| | | | - No Co | mercial Value - |
| | Equipment for JICA Burna Project | | Ex-C | odown Kobe |
| Cases | Total: | 1 lot | | ¥1,967,500 |
| | | Shipping Ccean Fro Insurance | Charge : ight : irem. : | ¥60,313 ¥160,332 ¥11,830 |
| | | CIF Range | 1 | ¥2,200,575 |
| | | <u> </u> | | |
| | | | | |
| | | | | |
| | | | | |
| | | | | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1)

| I.O. DOX DI | o, mitsut Diug., Similaku-ka, tokio, vahan. | | | (1) |
|-------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------|---------------|--------------------------------|
| Nos. | Description of Goods | Quantity | Unit Price | Amount |
| 119 | CHICKEN SECTOR Feed Grinder "ASAHI" Model: 3 440V, 20 - 30HP Capacity: 1.5ton/h with Motor Controller | l unit | Ex-God | wn Kobe ¥967,700 |
| 142 | MITSUBISHI Farm Tractor Model: D1300FD 4-wheel Drine with spare parts (details as per attached sheet) Trailer Model: DK5D 1 unit (Body No. 03504 Engine No. 44610) | l unit | | ¥999,900 |
| ******* | *********** | ***** | ***** | ********* |
| | | | | |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Nos. | Description of Goods | Quantity | | |
|------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------|---|---|
| | - attached sheet - | | | |
| | MITSUBISHI FARM TRACTOR Model: D1300FD | | | |
| | Spare Parts: | | | ļ |
| | Part No Part Name | | | |
| | MM400145 Gasket set M1400861 Fuel filter ass'y K9665400 Oil filter ass'y MM300152 Nozzle ass'y MD011351 Fan belt MM400660 Metal con rod MM400460 Packing oil pan MM400950 Shim adjusting MM400951 Shim adjusting MM400952 Shim adjusting MM400952 Shim adjusting MM400952 Shim adjusting MM400950 Element O980-6000-000 Filter | 1 set 4 sets 7 sets 2 sets 5 pcs 2 pcs 1 pce 1 pce 1 pce 1 pce 4 pcs 2 pcs | | |
| | 1135-1111-010 Disc ass'y | 2 sets | , | |
| | ~##################################### | ****** | | |
| | | | | |
| | | | | |
| , | ` | | | |
| | , | | | |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consigned to : Livestock Development and Marketing Corporation, Insein, Rangoon, Burma: | No: |
|-----------------------------------------------------------------------------------------|-----------------------|
| ****** | Date: Jan., 17.1979 |
| ••••• | Shipped per Air Craft |
| Shipping Mark: | from Tokyo, Japan. |
| L D M C | to Rangoon, Burma. |
| TREBUICAL SCOTTERATION BY THE GOVERNMENT OF TAPAN | via Direct. |
| RANGOON. C/No. 1-128 | on |
| MADE IN JAPAN | Export Licence No |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|--------|----------------------------------------|---------------------------------------|---------------|----------------------------------------|
| | | : | F.0.E | .Japan |
| | Gilt | 54 heads | @¥100,000 | ¥5,400,000 |
| | Boar | 11 heads | 150,000 | 1,650,000 |
| | Fodder (Net @20.0kgs) | 100 P'kges | • | 110,000 |
| | Swin-Erysipelas Vaccine (20 cc) | 1 P'kge | 6 0 | 1,200 |
| Total: | (27)crate & (101) P'kges 65 he | ads & 101 P | cges | ¥7,161,200. |
| | | F.O.B.Exp | nsive : | 2,361,099. |
| | JAPAN INTERNATIONAL COOPERATION AGENCY | F.O.B.Japa Air Freigh Insurance | ht: | ¥9,522,299. 11,300,676. 599,844. |
| | | C.I.F.Ran | con: | ¥21,422,819. |
| | P.P SHINSAKU HOGEN PRESIDENT | | | |
| | | | | |
| | | | F 8. | .O.E |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

INVOICE

| | 11(10101 | - - | | |
|----------|---------------------------------------------------------------------------------|---------------------------------------|------------------|----------------------------------------|
| Consigne | ed to: Livestock Development and Marketing Corporation, Insein, Kangoon, Burma. | No : | | •••••••••••••••••••••••••••••••••••••• |
| | | Date: | Mar.,05.197 | 79. |
| | | Shipped p | er <u>Air</u> (| Craft |
| Shipping | Mark: | fi | rom Tokyo | Japan. |
| | LDMC SIDE MARK | t | Rangoon | Burma. |
| | TECHNICAL COOPERATION BY THE COVERNMENT OF L. PAI | | ia <u>Direct</u> | |
| | RANGOON. | o | n | |
| | C/No. B-1-12 MADE IN JAPAN | Export L | icence No | |
| Nos. | Description of Goods | Quantity | Unit Price | Amount |
| | | | F.O.B | Javen |
| | Avian Encephalomyelitis Vaccine, etc. | 389 pcs | | ¥1,676,200 |
| | | F.O.B.Expe | nsive : | 26,135 |
| | - Detail as per attached sheet - | F.O.B.Japa Air Freigh Insurance | t: | ¥1,702,335 403,160 6,867 |
| | Twelve(12) cases | C.I.F. Rar | | ¥2,112,362 |
| | ** No commercial value ** | | | |
| | | | | |

E.&.O.E

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1)

| | | ; | Price | |
|-------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| B-11 15 12 57 53.8.9.32. 3 11 3 55 55 51 11 12 55 7 7 7 12 12 17 1 4 4 6 8 2 8 2 4 6 1 1 Total: | Avian Encephalomyelitis Vaccine 20ml Infectious Coryza Vaccine 500ml Pullolum Antigen 20ml Hycoplasma Gallisepticum Stained Antigen Choline Chloride 20kgs Tylocine 100g Tylocine Injection 500ml Sulfadimethoxine Injection 100ml Mycelium Injection 100ml Vitanet 10kgs Tinctura Iodi Diluta 500ml Acrinolum 25g Daimeton Powder 1kgs x 5 Daimeton Injection 10ml x 50A Penicillin G Injection 20ml x 10 Prednisologe Injection 20ml x 10 Prednisologe Injection 5A Atonin Injection 5A Atonin Injection 5A Ichthammolum 500ml Adsorbin 500g Vitamin K Injection 10A Ripercol 20g x 25 Neguvon 5kgs Hog Cholera Rive Virus Vaccine Swine Erysipelas 5A Brucella Antigen For Rapid Test 10A Dextrose Injection 50A Unguentum Simplex 500g Deparacin 500g Vitamin Bl Injection 1ml x 200 Vitamin Bl Injection 1ml x 200 Vitamin Bl Compound 20kgs Vitamin B Compound 20kgs Witamin B Compound 20kgs Mineral Compound 20kgs Methionine 20kgs L- Lysine 25kgs Hygromix 20kgs Enra Mucine 20kgs Stafac - 10 20kgs Furazoridon Powder 20kgs Twelve(12) cartons | 20 pcs 150 1 500 2 5 1 1 5 5 5 2 3 3 3 3 5 5 0 2 3 3 1 5 3 1 5 3 1 5 1 1 1 1 1 1 1 2 9 pcs | ¥2,000. 3,500. 1,100. 4,000. 9,500. 3,500. 750. 2,400. 45,000. 3,350. 4,500. 20,000. 3,500. 4,400. 2,900. 6,200. 4,550. 5,400. 5,500. 7,000. 1,500. 1,500. 1,200. 1,500. 1,200. 1,500. 1,200. 3,800. 8,500. 6,500. 8,000. 20,800. 32,000. 26,000. 30,000. 28,500. 15,000. | ¥40,000 49,000 16,500 120,000 8,000 37,500 120,000 37,500 120,000 3,750 16,750 16,750 100,000 7,000 13,200 13,650 4,500 13,650 4,500 1,770 46,500 21,000 21,000 21,000 21,000 3,600 21,000 3,600 21,000 3,600 21,000 3,600 21,000 3,600 3,600 21,000 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 3,600 |
| | | | İ | i. |

P.O.Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

| Consign | | EVELOPHENT AND MARKETING "INSEIN" RANGOON, BURNA | No: | |
|--------------------|--------------------------------|-----------------------------------------------------|--------------|----------------|
| , l, ` , | | | Date: | Harch 30, 1979 |
| | | , e | Shipped per | PHANFTON KARUP |
| Shippin | g Mark: | · * * * * * * * * * * * * * * * * * * * | from | Yokohama |
| | LIMC | SIDE MARK | to | HODERS. |
| · · | JIC A | TECHNICAL COOPERATION BY THE GOVERNMENT OF JAP N | via | |
| | Ranikan | | on | March 30, 1979 |
| · ., | C/No. S-1 - 7 MADE IN JAPAN | | Export Licer | nce No |
| € ¹ ′ f | • | | | |

| Nos. | Description of Goods | Quantity | Unit Price | Amount |
|-------------------|------------------------------------------------|---------------------|---------------|--------------------------|
| | Air Conditioner, Mitaubishi & etc. | | | LUIAL VALUE NASAL NVO |
| ** 7 | | | - | |
| jυ* | - Specification are as per | | | • |
| æ1 | attached sheet - | | | |
| | ###################################### | 397 pcs. | | |
| rotal: | - , ² , ³ , ³ | 12 sets 30 yeirs | | 45 ,793, 800 |
| h | | Shippi | ng Charges | 31,383 |
| -2 1 | ~ o. "and o. q. s. | Ccean | reight : | 348 682 33 798 |
| a year | 57* , M | C. I 3A | | 36,207,663.~ |
| 1 3+2 1 | 44. | | | |
| W.T. A | · · · · · · · · · · · · · · · · · · · | | İ | |
| * | no december of | - | | |
| , \$75° p 174° p. | matter of the | - | - | |
| | i | 1 | E.& | .O.E |

P.O. Box 216, Mitsui Bldg., Shinjuku-ku, Tokyo, Japan.

(1)

| P.O. Bo | x 216, Mitsui E | ildg., Shinjuku-ku, Tokyo, Japan. | 11 | • | |
|--------------|-----------------|---------------------------------------------------------------------|--------------|---------------|------------------|
| Nos. | | Description of Goods | Quantity | Unit Price | Amount |
| C/NO. B-1 | ITEM NO. | Slide Projector, ZLHO, AS-3000A; | l set | | ¥126,500 |
| | 5 | Auto-bicycle, YAMAHA, AG-100 | 2 " | ¥159,000 | 318,000 |
| ۰ | 7 | Air Conditioner, MITSUBISHI, FD-1 FDC-2, 220V, 50Hs., with Pipes | 3 " | 189,000 | 567,000 |
| | 13 | Black Board, Lion, H-025, 900 x 1 | 200mm 5 pcs. | 25,500 | 127,500 |
| B-2 | 1 . | Timer, Ouron 20V, 50Hz., 15A | 20 " | 5,100 | 102,000 |
| | 3 | Rapid Agglutination Testing Box, FA435 | HK, 2 sets | 37,500 | 75,000 |
| | 9 | Sieve, FEK, 3 kind mech set | 2 " | -13,000 | 26,000 |
| | 10 | Scrubbing Brush | 30 pes. | 180 | 5,400 |
| | 11 | Electric Drying Oven, FHK, SFT 10 with stand, 220V, 50Hs. | is, 1" | , | 447,000 |
| | 12 | Gloves | 10 pai | * 660 | 6,600 |
| B-3 | 2 | Electric Incubator, Showa, P-05, with Transformer | l set | | 400,000 |
| | 6 | white Boots | 20 pair | 2,200 | 44,000 |
| | 8 | Power Sprayer-Hi Washer, FHK, with engine parts 7 hose 100m | ih 1 set | | 275,000 <u>-</u> |
| B-4 | 29 | Daimeton Powder | 6 рев. | 17,900,- | 107,400 |
| | 35 | Sevin W.P. 75 | 4 * | 21,000 | 84,000 |
| | 37 | Ortho Compound | 55 * | 8,000 | 440,000 |
| | 72 | Pacona | 3 " | 11,000 | 33,000 |
| | 73 | Pansolneo | 1 * | | 8,000 |
| | * | DDVP Oil Solution | 5 " | 5,000 | 25,000 |
| B-5 | 19 | Furazoridon | 8 # | 15,000 | 120,000 |
| | z * | Di-Methionine | 3 " | 20,800 | 62,400 |
| | 3 6 | Sevin Dust 3 | 30 " | 2,800 | 84,000 |
| | 88 | Methionine | 7 " | 20,800 | 145,600 |
| | 91 | Enra Hycia | 14 ** | 34,000 | 476,000 |

JAPAN INTERNATIONAL COOPERATION AGENCY

| 1.0. Bux . | ito, mitsui t | Bldg., Shinjuku-ku, Tokyo, Japan. | | | | (2) |
|----------------|---------------|-----------------------------------|-----|----------------------|------------------------|------------------------------------------|
| Nos. | | Description of Goods | Qua | ntity | Unit Price | Amount |
| 'NO. <u>IT</u> | 24 NO. | Furasoridon Powder | 13 | pcs.d | ¥15,000. | ¥195,000 |
| 3-6 | 26 | Zoalene | 1 | | | 31,000 |
| | 28 | Sulfadimethoxine Powder | 14 | • | 14,000. | - 196,000 |
| | 94 | Piperazine Tablets | 60 | • | 1,500. | 90,000 |
| | 58 | Osvan | FO | • | 400. | - 16,000 |
| | 39 | Egg Clean | 8 | • | 10,000. | 80,000 |
| | 55 | Osvan | 5 | • | 400. | 2, 000 |
| | 79 | Lime and Sulfur | 2 | • | 4,000. | 8,000. |
| | 81 | Neguvon 3% Dust | 5 | • | 5,500. | 27,500. |
| | 90 | Hygromiz | 2 | | 26,000. | 52,000. |
| | 92 | Colistinum | 14 | • | 30,000. | 420,000. |
| B-7 | 20 | Vitamin AD Compound | 1 | # | | 8,500. |
| | 21 | Vitamin B Compound | 2 | • | 6,500. | - 13,000. |
| | 22 | Mineral Compound | 2 | • | 8,000. | - 16,000. |
| | 25 | L - Lysin | 1 | • | | 32,000. |
| | 85 | Vitamin AD Compound | 9 | • | \$, 500. | - 76,500. |
| | 86 | Vitamin B Compound | 7 | | 6,500. | 45,500. |
| | 8 7 | Mineral Compound | 99 | • | \$, 000. | - 72,000. |
| | 89 | L - Lysine | 6 | * | 32,000. | - 192,0 00. |
| | 93 | Stafac-10 | • | • | 28,850. | - 115,400. |
| TOTAL: | | | 12 | pes. sets pair | | ¥5,793,800. |
| | | | | Ocea | ping Char a Freight | ge: 31,383. : 348,682. m.: 33.798. |



| · | | |
|---|--|--|
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |



